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EEER 5=
8H2H(L) W=y @] 10 17,000 73%
8H3H(H) =y &l 10 17,000 73%
8H4H(H) W=y @] 10 17,000 73%
8HS5H(XN) =y &l 10 17,000 73%
8H6H(K) W=y @] 10 17,000 73%
8H7H(RK) =y &l 10 17,000 73%
8H9H(L) W=y @] 10 17,000 73%
8H10H(H) NS, &l 10 17,000 73%
8H11H(H) W= @] 10 17,000 73%
8H12H(XN) =y e ] 10 17,000 73%
8H13H(K) =y @] 10 17,000 73%
8H14H(K) =3 e ] 10 17,000 73%
8H15H (&) =y @] 10 17,000 73%
8H16H (LX) =y e ] 10 17,000 73%
8H17H(H) =y @] 10 17,000 73%
8H18H(H) =y &l 10 13,000 80%
8H19H(N) =y @] 10 11,000 83%
8H20H(K) =3 &l 10 11,000 83%
8H21H(K) =y @] 10 11,000 83%
8H22H (&) =y &l 10 13,000 80%
8H23H(X) =y @] 10 13,000 80%
8H24H(H) =y &l 10 13,000 80%
8H25H(H) =y ] 10 13,000 80%
8H26H(XN) =3 &l 10 11,000 83%
8H27H(K) = ] 10 11,000 83%
8H28H(K) =3 ] 10 11,000 83%
8H29H (&) = ] 10 13,000 80%
8H31H(H) =3 &l 10 13,000 80%
9B1H(A) = ] 10 11,000 82%
9H2H(X) =3 &l 10 9,000 85%
9H3H(K) = ] 10 9,000 85%
9H4H(RK) =3 &[] 10 9,000 85%
9OHS5H(E) = ] 10 11,000 82%
9H6H(L) =3 &l 10 11,000 82%
987H(H) = ] 10 11,000 82%
9H8H(AH) W=y &l 10 11,000 82%
9H9H(X) W=y il 10 9,000 85%
9H10H(K) W=y &l 10 9,000 85%
9H11H(K) W=y il 10 9,000 85%
9H13H(%) W=y &l 10 19,000 69%
9H14H(H) W=y e ] 10 15,000 75%
9H15H(H) W=y &l 10 19,000 69%
9H16H(X) W=y il 10 11,000 82%
9H17H(K) W=y &l 10 9,000 85%
9H18H(K) = fE 10 9,000 85%
9OH19H(:E) =y &l 10 11,000 82%
9H21H(H) = e ] 10 19,000 69%
9H22H(H) =y &l 10 17,000 72%
9H23H(N) = &l 10 19,000 69%
9H24H(K) =y &l 10 9,000 85%
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9H25H(XK) =) &l 10 9,000 85%
9H26H(&) e &l 10 11,000 82%
9H28H(H) =) &l 10 11,000 82%
9H29H(H) e &l 10 11,000 82%
9H30H(N) =) &l 10 9,000 85%
10H1H(K) e &l 10 9,000 85%
10H2H(K) =) &l 10 9,000 85%
10A3H(&E) e &l 10 11,000 82%
10H5H(H) =) &l 10 11,000 82%
10H6H(H) e &l 10 11,000 82%
10H7H(X) =) &l 10 9,000 85%
10H8H(K) e &l 10 9,000 85%
10H9H(K) =) &l 10 9,000 85%
10H13H(H) NS, &l 10 19,000 69%
1051480 =) &l 10 9,000 85%
10H15H0K) NS &l 10 9,000 85%
10H16H(XK) =) &l 10 9,000 85%
10H17H(&®) NS, &l 10 11,000 82%
10H18H(%) =) &l 10 11,000 82%
10H19H(H) NS &l 10 11,000 82%
10H20H(H) =) &l 10 11,000 82%
10H21HN) NS, &l 10 9,000 85%
10H22H(K) =) &l 10 9,000 85%
10H23H(XK) NS &l 10 9,000 85%
10824H(&) =) &l 10 11,000 82%
8H1H(E) &l = 11 17,000 73%

8H3H(H) &l file 11 17,000 73%

8H4H(H) &l =) 11 17,000 73%

8H5H(AN) &l file 11 17,000 73%

8H6H(K) &l =) 11 17,000 73%

8H8H(%E) &l file 11 17,000 73%

8H10H(H) &l =) 11 17,000 73%
8H11H(H) &l file 11 17,000 73%
8H12H(X) &l =) 11 17,000 73%
8H13H(K) &l file 11 17,000 73%
8H14H(XK) &l =) 11 17,000 73%
8H15H(&) &l file 11 17,000 73%
8H16H(%) & =) 11 17,000 73%
8H18H(H) &l file 11 13,000 80%
8H19H(N) &l =) 11 11,000 83%
8H20H(K) &l =) 11 11,000 83%
8H21H(K) &l =) 11 11,000 83%
8H22H(&) &l =) 11 13,000 80%
8H23H(L) &l =) 11 13,000 80%
8H24H(H) &l =) 11 13,000 80%
8H25H(H) &l =) 11 13,000 80%
8H26H(XN) &l =) 11 11,000 83%
8H27H(K) &l =) 11 11,000 83%
8H28H(K) &l = 11 11,000 83%
8H29H (&) &l =) 11 13,000 80%
8H30H(L) &l =) 11 13,000 80%
8H31H(H) &l =) 11 13,000 80%
9H1H(AH) & =) 11 11,000 82%

9H2H(KX) &l =) 11 9,000 85%
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9H3H(K) &l =) 11 9,000 85%

OHS5H(&E) & e 11 11,000 82%

9H6H(X) &l =) 11 11,000 82%

9B7H(H) & e 11 11,000 82%

9H8H(H) &l =) 11 11,000 82%

9H9H(X) & e 11 9,000 85%

9H10H(K) &l =) 11 9,000 85%
9H11H(K) & e 11 9,000 85%
9H12H(&E) &l =) 11 11,000 82%
9H13H(X) & e 11 19,000 69%
9H14H(H) &l =) 11 15,000 75%
9H15H(H) & e 11 19,000 69%
9H16H(N) &l =) 11 11,000 82%
9H17H(K) &l =) 11 9,000 85%
9H18H(K) &l e 11 9,000 85%
9H19H(&%) &l = 11 11,000 82%
9H20H(L) &l e 11 19,000 69%
9H21H(H) &l = 11 19,000 69%
9H22H(H) &l e 11 17,000 72%
9H23H(X) &l = 11 19,000 69%
9H24H(K) &l e 11 9,000 85%
9H25H(XK) &l =) 11 9,000 85%
9OH26H(&) &l e 11 11,000 82%
9H27H(%) &l = 11 11,000 82%
9H28H(H) &l e 11 11,000 82%
9H29H(H) &l =) 11 11,000 82%
9H30H(X) &l file 11 9,000 85%
10H1H(K) &l = 11 9,000 85%
10H2H(K) &l file 11 9,000 85%
10H3H(E) &l = 11 11,000 82%
10H4H(XL) &l file 11 11,000 82%
10H5H(H) &l = 11 11,000 82%
10H6H(AH) &l file 11 11,000 82%
10H7H(X) &l = 11 9,000 85%
10H8H(K) &l file 11 9,000 85%
10H9H(K) &l = 11 9,000 85%
10H10H(%&) &l file 11 11,000 82%
10H12H(H) &l = 11 17,000 72%
10H13H(H) &l file 11 19,000 69%
10H14H(N) &l =) 11 9,000 85%
10H15H0K) &l =) 11 9,000 85%
10H16H(XK) &l =) 11 9,000 85%
10H17H(&) &l =) 11 11,000 82%
10H18H(%) &l =) 11 11,000 82%
10H19H(H) &l =) 11 11,000 82%
10H20H(H) &l =) 11 11,000 82%
10H21HCN) &l =) 11 9,000 85%
10H22H(K) &l =) 11 9,000 85%
10H23H(XK) &l = 11 9,000 85%
10H24H(£) &l =) 11 11,000 82%
10H25H(%) &l =) 11 11,000 82%
8H2H(%) =) &l 12 17,000 73%

8H3H(H) e &l 12 17,000 73%

8H4H(H) =) &l 12 17,000 73%
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(X[e] e
8H5H(N) e = E=E]
8H128(N) mi 12 " EHER 23| %
8H13H(K) 4|JJ2 Gzt 1 17,000 53%
88 14H(X) = f@f] 17,000 5
= = 12 73%
8H15H(& = &R 17,000 5
) = = 12 73%
8H16H(1) e i1 15 17,000 73%
8H18H(A) ME & 1 17,000 73%
8H19H () ME{ fa] 15 17,000 73%
88208 (K) = fEE 13,000 5
= = 12 80%
8H21H(X) e f&EE 15 11,000 83%
8H22H (& = &) 11,000 5
) S = 12 83%
8823H(%) = 1@ 11,000 5
= = 12 83%
8H24H(H = 1@ 13,000 5
) = = 12 80%
8H26H(N) v t&E 13,000 >
= = 12 80%
8H28H(K) = 1= 11,000 >
= = 12 83%
9oB1H(H) = 18 11,000 ;
= = 12 83%
9F2H(N) e iz 15 13,000 80%
9H3H(K) Mi &l 12 11,000 82%
9H4H(K) Mi (ElE] P 9,000 85%
9B5H(&) v F&E 9,000 5
= = 12 85%
9B7H(H) = 18 11,000 ;
= = 12 82%
9A8H(A) = 1 11,000 0
= = 12 82%
9H9H(X) = f=] 11,000 5
= = 12 82%
9811H(K) Mf\ i1 15 9,000 8504
9H12H(&) — fa 9,000 5
= = 12 85%
9H14H(H) — &l 9,000 o
= = 12 85%
9B158(A) = 1E 11,000 3
= = 12 82%
9H16H(N) = & 15,000 5
= = 12 75%
9H17H(K) — f& 19,000 0
= = 12 69%
98 18H(K) e f&h 1 11,000 82%
9H20H(%) = fa] 9,000 5
= = 12 85%
9H21H(H) — & 11,000 o
= = 12 82%
9822H(A) = 1@ 19,000 5
= = 12 69%
9H23H(N) e izl 15 19,000 69%
98248 (K) = 1 17,000 5
= = 12 72%
9H258(A) na 151 12 19,000 69%
9827H(L) = @] 9,000 5
= = 12 85%
9A28H(H) = =l 11,000 5
= = 12 82%
9H29H(A) 0= izl 15 11,000 82%
9H30H(A) = 1@ 11,000 5
= = 12 82%
1081H(K) S fE] 15 11,000 8%
10A3H(&) = 13 9,000 5
= = 12 85%
1084H(+ & 9,000 5
) s = 12 85%
10858(H) = & 11,000 5
= = 12 82%
10A6H(B = 1@ 11,000 5
) = = 12 82%
10878 (X = 18 11,000 5
) = = 12 82%
&) 1 11,000 82%
9[000 850/0
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10H8H(K) =) &l 12 9,000 85%
10H9H(K) e &l 12 9,000 85%
10H12H(H) =) &l 12 17,000 72%
10H13H(H) e &l 12 19,000 69%
10H14HN) =) &l 12 9,000 85%
10H15H(0K) e &l 12 9,000 85%
10H16H(K) =) &l 12 9,000 85%
10H17H(&) e &l 12 11,000 82%
10H18H(%) =) &l 12 11,000 82%
10H19H(H) e &l 12 11,000 82%
10H20H(H) =) &l 12 11,000 82%
10H21H(N) e &l 12 9,000 85%
10H22H(K) =) &l 12 9,000 85%
10H24H(%) NS, &l 12 11,000 82%
10H25H(%) =) &l 12 11,000 82%
8H1H(E) &l = 13 17,000 73%

8H2H(%) &l e 13 17,000 73%

8H3H(H) &l = 13 17,000 73%

8H4H(H) &l e 13 17,000 73%

8H5H(X) &l = 13 17,000 73%

8H6H(K) &l =) 13 17,000 73%

8H7H(K) &l = 13 17,000 73%

8H8H(&E) &l e 13 17,000 73%

8H9H(%) &l = 13 17,000 73%

8H10H(H) &l e 13 17,000 73%
8H12H(X) &l = 13 17,000 73%
8H13H(K) &l =) 13 17,000 73%
8H14H(XK) &l =) 13 17,000 73%
8H18H(H) &l =) 13 13,000 80%
8H19H(N) &l = 13 11,000 83%
8H20H(K) &l =) 13 11,000 83%
8H21H(K) &l = 13 11,000 83%
8H22H(&) &l file 13 13,000 80%
8H23H(X) &l = 13 13,000 80%
8H24H(H) &l file 13 13,000 80%
8H25H(H) &l = 13 13,000 80%
8H26H(X) &l =) 13 11,000 83%
8H27H(K) &l = 13 11,000 83%
8H28H(K) &l =) 13 11,000 83%
8H29H (&) &l =) 13 13,000 80%
8H30H(L) &l =) 13 13,000 80%
8H31H(H) &l =) 13 13,000 80%
9H1H(AH) &l =) 13 11,000 82%

9H2H(KX) &l =) 13 9,000 85%

9H3H(K) &l =) 13 9,000 85%

9H4H(K) &l =) 13 9,000 85%

9OH5H(%E) &l =) 13 11,000 82%

9H6H(%) &l =) 13 11,000 82%

9H7H(H) &l =) 13 11,000 82%

9H8H(H) &l =) 13 11,000 82%

9H9H(N) &l = 13 9,000 85%

9H10H(K) &l =) 13 9,000 85%
9H11H(K) & =) 13 9,000 85%
9OH12H(&) &l =) 13 11,000 82%
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9H13H(*L) &[] U= 13 19,000 69%
9H14H(H) &) U= 13 15,000 75%
9H15H(H) &[] = 13 19,000 69%
9H16H(N) &) U= 13 11,000 82%
9H17H(K) & U= 13 9,000 85%
9H18H(K) &) U= 13 9,000 85%
9H19H (&) &[] U= 13 11,000 82%
98208 (L) &) U= 13 19,000 69%
9H21H(H) &[] = 13 19,000 69%
9H22H(H) &) U= 13 17,000 72%
9H23H(N) &[] = 13 19,000 69%
9H25H(K) &) U= 13 9,000 85%
9H26H (&) &[] U= 13 11,000 82%
9827H(*L) &[] U= 13 11,000 82%
9H28H(H) &[] = 13 11,000 82%
9H29H(H) f& U= 13 11,000 82%
9H30H(N) &[] = 13 9,000 85%
108180K) &[] U= 13 9,000 85%
10H2H(RK) &[] = 13 9,000 85%
10838 (&) &[] U= 13 11,000 82%
10H4H(L) &[] = 13 11,000 82%
108B5H(H) &[] U= 13 11,000 82%
10H6H(H) &[] = 13 11,000 82%
10878(XN) &[] U= 13 9,000 85%
10H8H(K) & = 13 9,000 85%
10H9H(XK) &[] U= 13 9,000 85%
108 10H (&) &[] = 13 11,000 82%
10H12H(H) &[] = 13 17,000 72%
10H13H(A) &[] = 13 19,000 69%
10814H(N) &[] = 13 9,000 85%
10H1580K) & = 13 9,000 85%
108 16H(AK) &[] = 13 9,000 85%
10817H(&) &[] = 13 11,000 82%
10818H(%) &[] U= 13 11,000 82%
10H19H(H) &[] = 13 11,000 82%
10H20H(H) &[] U= 13 11,000 82%
10H21B(N) &[] = 13 9,000 85%
10822H(K) &[] = 13 9,000 85%
10H23H(ARK) &[] = 13 9,000 85%
10824H(&) &[] =} 13 11,000 82%
10H25H(%) &[] = 13 11,000 82%
8H2H(L) = =) 14 17,000 73%

8H4H(A) = & 14 17,000 73%

8H5H(N) = =) 14 17,000 73%

8H6H(7K) = =[] 14 17,000 73%

8H13H(K) = =) 14 17,000 73%
8H16H(TL) = =[] 14 17,000 73%
8H18H(H) = =) 14 13,000 80%
8H19H(N) = & 14 11,000 83%
8H20H(K) = &) 14 11,000 83%
8H21H(K) = & 14 11,000 83%
8H22H (&) = &) 14 13,000 80%
8H23H(*L) =) &) 14 13,000 80%
8H24H(H) = &[5 14 13,000 80%
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i . _ mE 213/
88268 (N) e %E 13 o 530
8B27E(K) e & 14 RV 53
85286 () e T 14 ¥ T05 53
85290 (%) e = 14 T S5t
88305 (1) e ) 14 ot S00
88310 (H) e = 14 T 505
oB1A(A) e T 1 o S0
oB28(K) e & 12 S =
9B 3H(K) e T 14 H00s =
0B4A(K) e & 14 S =
9B5H(&) e ) 14 o 5o
9860 (1) a = 000 St
G e e 14 11,000 82%
EREIG)) e =5 T 000 St
98 108 (K) e ) 13 T =
9OB11A(K) e = 14 S =
OB 128(2) e ) 14 e 50
9B13H(1) e = 14 T S
9B 148(R) e ) 14 T o
9B158(8) e = 14 ENED foo
98168 (N) e ) 14 ST oo
9B 17H(K) e = 14 BT =
9B 18H (A) e ) 14 o =
9H19A(2) e = 14 T 520
9B208(1) e ) 14 T S0
9B218(A) e = 14 5 oo
9B228(8) e =T 14 T o
9B238(N) e = 14 e S
98248 (X) e =T 14 o o2
98258 (k) e = 14 i =
9B26E(%) e =T 14 e 5o
9B278(1) e = 14 o S50
9B 28E(H) e =T 14 T 5o
9B290(8) e = 14 o S50
9B 308 (X) e =T 14 T =
10818 (K) e = 14 i =
10828 (k) e =T 14 S =4
10836(2) e o 14 e 5o
10848 (1) e =T 14 T 5o
10856(H) na o 14 N S50
10868(8) e =T 14 T 550
10878(N) na =T 14 i Seoe
10888 (X) e =T 14 N5 =
10898 () na =T 14 S 520
108 108(&) e =T 14 e 5o
108128(8) e = 14 > o
108136 (8) e =T 14 N coo
108 145 (X) e =T 14 S =
108158 (K) e =T 14 N =
108 165 () e =T 14 i 520
108178(&) e =T 14 N 530
108 186 (1) e =T 14 11888 550t

10 AN = . 8 2
H19H(H) = f&E ] 14 11,000 8302
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10H20H(H) =) &l 14 11,000 82%
10H21H(AN) e &l 14 9,000 85%
10H22H0K) =) &l 14 9,000 85%
10H23H(XK) e &l 14 9,000 85%
10H24H(£) =) &l 14 11,000 82%
10H25H(%) e &l 14 11,000 82%
8H2H(L) &l =) 15 17,000 73%

8H5H(KX) & e 15 17,000 73%

8H6H(K) &l =) 15 17,000 73%

8H7H(K) & e 15 17,000 73%

8H8H(&) &l =) 15 17,000 73%

8H9H(%) & e 15 17,000 73%

8H10H(H) &l =) 15 17,000 73%
8H11H(H) &l = 15 17,000 73%
8H12H(X) &l e 15 17,000 73%
8H13H(K) &l = 15 17,000 73%
8H14H(K) &l e 15 17,000 73%
8H18H(H) &l =) 15 13,000 80%
8H19H(X) &l e 15 11,000 83%
8H20H(K) &l =) 15 11,000 83%
8H21H(K) &l =) 15 11,000 83%
8H22H (%) &l = 15 13,000 80%
8H23H(L) &l e 15 13,000 80%
8H24H(H) &l =) 15 13,000 80%
8H25H(H) &l e 15 13,000 80%
8A26H (J) & e 15 11,000 83%
8H27H(K) &l =) 15 11,000 83%
8H28H(K) &l = 15 11,000 83%
8H29H(&) &l file 15 13,000 80%
8H30H(%) &l = 15 13,000 80%
8H31H(H) &l file 15 13,000 80%
9H1H(H) &l =) 15 11,000 82%

9H2H(N) &l file 15 9,000 85%

9H3H(K) &l = 15 9,000 85%

9H4H(K) &l file 15 9,000 85%

9H5H(&) &l = 15 11,000 82%

9H6H(X) &l file 15 11,000 82%

9H7H(H) &l =) 15 11,000 82%

9HS8H(H) &l file 15 11,000 82%

9H9H(KX) &l =) 15 9,000 85%

9H10H(K) &l =) 15 9,000 85%
9H11H(XK) &l =) 15 9,000 85%
OH12H(&) &l =) 15 11,000 82%
9H14H(H) &l =) 15 15,000 75%
9H15H(H) &l =) 15 19,000 69%
9H16H(N) &l =) 15 11,000 82%
9H17H(K) &l =) 15 9,000 85%
9H18H(XK) &l =) 15 9,000 85%
OH19H(&) &l =) 15 11,000 82%
9H20H(x) &l =) 15 19,000 69%
9H21H(H) &l =) 15 19,000 69%
9H22H(H) &l =) 15 17,000 72%
9H23H(X) & =) 15 19,000 69%
9H24H(K) &l =) 15 9,000 85%
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9H25H(XK) &l =) 15 9,000 85%
9H26H(&) & e 15 11,000 82%
9H27H(XL) &l =) 15 11,000 82%
9H28H(H) & e 15 11,000 82%
9H29H(H) &l =) 15 11,000 82%
9H30H(X) & e 15 9,000 85%
10H1H(K) &l =) 15 9,000 85%
10H2H(K) & e 15 9,000 85%
10H3H(E) &l =) 15 11,000 82%
10H4H(XL) & e 15 11,000 82%
10H5H(H) &l =) 15 11,000 82%
10H6H(H) & e 15 11,000 82%
10H7H(X) &l =) 15 9,000 85%
10H8H(K) &l =) 15 9,000 85%
10H9H(K) &l e 15 9,000 85%
10H10H(®) &l = 15 11,000 82%
10H11H(X) &l e 15 19,000 69%
10H12H(H) &l = 15 17,000 72%
1051480 &l =) 15 9,000 85%
10H15H0K) &l =) 15 9,000 85%
10H16H(XK) &l =) 15 9,000 85%
10H17H(&®) &l = 15 11,000 82%
10H18H(%) &l e 15 11,000 82%
10H19H(H) &l =) 15 11,000 82%
10H20H(H) &l e 15 11,000 82%
10H21HN) &l =) 15 9,000 85%
10H22H(0K) &l =) 15 9,000 85%
10H23H(XK) &l = 15 9,000 85%
10H24H(£) &l file 15 11,000 82%
10H25H(%) &l = 15 11,000 82%
8H1H(%&) =) &l 16 17,000 73%

8H2H(L) =) &l 16 17,000 73%

8H3H(H) =) &l 16 17,000 73%

8H4H(H) =) &l 16 17,000 73%

8H5H(AN) =) &l 16 17,000 73%

8H6H(’K) =) &l 16 17,000 73%

8H10H(H) =) &l 16 17,000 73%
8H11H(H) =) &l 16 17,000 73%
8H12H(X) =) &l 16 17,000 73%
8H13H(K) =) &l 16 17,000 73%
8H14H(K) =) ] 16 17,000 73%
8H15H(%&) =) &l 16 17,000 73%
8H18H(H) =) ] 16 13,000 80%
8H19H(N) =) &l 16 11,000 83%
8H20H(K) =) e ] 16 11,000 83%
8H21H(K) =) &l 16 11,000 83%
8H22H(&) =) &l 16 13,000 80%
8H23H(L) =) &l 16 13,000 80%
8H24H(H) =) &l 16 13,000 80%
8H25H(H) =) &l 16 13,000 80%
8H26H(XN) =) e ] 16 11,000 83%
8H27H(K) =) &l 16 11,000 83%
8H28H(K) e &l 16 11,000 83%
8H29H (&) =) &l 16 13,000 80%
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$55E 0 XS ®%

i . _ mE 213/
I m; igg 16 13,000 80%
oB28(K) e & 12 S =
EEEICR e T 16 H00s =
0B4A(K) e & 16 S =
9B5H(&) e ) 16 o 5o
9B6E (1) e = 16 RV S50
oB78(8) a T Va0 550,
oBsE(B) = e T 000 St
SHon(i TS e 16 11,000 82%
98 108 (K) e =5 12 S =
9OB11E(X) e T 16 H00s =
9B 128(%) e = 16 W 535
9B 138(1) e R 16 T St
9B 14H(H) e = 16 T o
9B 158(8) e ) 16 BT foo
9B16H(N) e = 16 VT oo
SH17E(K) e ) 16 T =
9B18H(K) e = 16 S =
95198 (%) e ) 16 e 50
9B208(1) e = 16 T St
9B218(8) e ) 16 T oo
98226 (8) e = 16 T o
98238 (X) e ) 16 BT coo
9B 24H (K) e = 16 B o2
9B 255 (A) e = 16 N =
9B260(2) e = 16 T 5o
9B278(1) e =T 16 T 550
9B280(A) e o 16 . S50
98298 (8) e =T 16 T 550
9B30H(N) e = 16 S =
10818 (K) e =T 16 N5 =
10828 (k) e = 16 i =
10838(2) e =T 16 e 50
10846(1) e o 16 . S50
10858(8) e =T 16 T 550
10868(8) e = 16 . =
10878(N) e =T 16 T =
1088HE (K) e = 16 i =
10898 (K) e =T 16 N5 =
108 108(&) e = 16 " 520
108110(1) e =T 16 T St
10H12H(H) = &) 16 R e
108136 (8) e =T 16 N S
108 145 (X) na =T 16 B =
108158 (K) e =T 16 N5 =
108 16H () na =T 16 s 520
108178(&) e =T 16 e 535
108188 (L) e = 16 o =
108196 (H) e =T 16 O 550
108206 (5) e =T 16 o S50
108218 () e =T 16 T =
102225(719 e =T 16 2888 =

1082 B & , =
3H(K) = f&E ] 16 9,000 8502
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aE&e (X f& EE o

EERE F5|x

10H24H(%) W=y @] 16 11,000 82%
10H25H(%) NS, &l 16 11,000 82%
8H1H(E) &l =) 17 17,000 73%
8H2H(TL) &l = 17 17,000 73%
8HS5H(X) f& ] =) 17 17,000 73%
8H6H(K) &l = 17 17,000 73%
8H10H(H) &l =) 17 17,000 73%
8H11H(H) &l = 17 17,000 73%
8H12H(XN) f& ] =) 17 17,000 73%
8H13H(K) &l = 17 17,000 73%
8H14H(K) f& ] =) 17 17,000 73%
8H15H(E) &l = 17 17,000 73%
8H18H(H) &l =) 17 13,000 80%
8H19H(XN) &l il= 17 11,000 83%
8H20H(K) & ] =) 17 11,000 83%
8H22H(&) &l il= 17 13,000 80%
8H23H(X) &l =) 17 13,000 80%
8H24H(H) &l il= 17 13,000 80%
8H25H(H) &l =) 17 13,000 80%
8H26H(N) G=lid e 17 11,000 83%
8H27H(K) & ] =) 17 11,000 83%
8H28H(K) &l il= 17 11,000 83%
8H30H(x) &l =) 17 13,000 80%
9H1H((A) &l il= 17 11,000 82%
9H2H(X) & ] =) 17 9,000 85%
9H3H(K) &l = 17 9,000 85%
9H4H(K) & =) 17 9,000 85%
9HS5H(E) &l =3 17 11,000 82%
9H6H(L) &l =) 17 11,000 82%
9H8H(AH) &l =3 17 11,000 82%
9H9H(X) & =) 17 9,000 85%
9H10H(K) &l =3 17 9,000 85%
9H11H(XK) & =) 17 9,000 85%
9OH12H(%&) &l =3 17 11,000 82%
9H13H(%) &l =) 17 19,000 69%
9H14H(H) &l =3 17 15,000 75%
9H16H(N) & =) 17 11,000 82%
9H17H(K) &l =3 17 9,000 85%
9H18H(XK) & =) 17 9,000 85%
9H19H(:&) &l =3 17 11,000 82%
9H20H(x) &l =) 17 19,000 69%
9H21H((H) &l =3 17 19,000 69%
9H22H(H) &l (= 17 17,000 72%
9H24H(K) &l =3 17 9,000 85%
9H25H(K) &l (= 17 9,000 85%
9H26H(:E) &l =3 17 11,000 82%
9H27H(X) &l =) 17 11,000 82%
9H28H(H) &l =3 17 11,000 82%
9H29H(H) &l (= 17 11,000 82%
9H30H(XN) &l =3 17 9,000 85%
10H1H(K) &l (= 17 9,000 85%
10H2H(K) &l =3 17 9,000 85%
10H3H(E) &l =) 17 11,000 82%
10H4H(XL) &l =3 17 11,000 82%
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10H6H(AH) &l =) 17 11,000 82%
10H7H(XN) & e 17 9,000 85%
10H8H(K) &l =) 17 9,000 85%
10H9H(K) & e 17 9,000 85%
10H10H(&) &l =) 17 11,000 82%
10H11H(X) & e 17 19,000 69%
10H14HN) &l =) 17 9,000 85%
10H15H(0K) & e 17 9,000 85%
10H16H(K) &l =) 17 9,000 85%
10H17H(&) & e 17 11,000 82%
10H18H(%) &l =) 17 11,000 82%
10H20H(H) & e 17 11,000 82%
10H21HN) &l =) 17 9,000 85%
10H22H(K) &l =) 17 9,000 85%
10H23H(XK) &l e 17 9,000 85%
10H24H(%) &l = 17 11,000 82%
8H1H(%&) =) &l 18 17,000 73%

8H2H(%) NS, &l 18 17,000 73%

8H4H(H) =) &l 18 17,000 73%

8H5H(X) NS &l 18 17,000 73%

8H6H(K) =) &l 18 17,000 73%

8H10H(H) NS, &l 18 17,000 73%
8H11H(H) =) &l 18 17,000 73%
8H12H(X) NS &l 18 17,000 73%
8H13H(K) =) &l 18 17,000 73%
8H14H(K) NS, &l 18 17,000 73%
8H15H(&) =) &l 18 17,000 73%
8H16H (%) =) &l 18 17,000 73%
8H17H(H) =) &l 18 17,000 73%
8H18H(H) =) &l 18 13,000 80%
8H19H(X) =) &l 18 11,000 83%
8H20H(K) =) &l 18 11,000 83%
8H21H(K) =) &l 18 11,000 83%
8H22H(%&) =) &l 18 13,000 80%
8H23H(L) =) &l 18 13,000 80%
8H24H(H) =) &l 18 13,000 80%
8H25H(H) =) &l 18 13,000 80%
8H26H(N) =) &l 18 11,000 83%
8H27H(K) =) &l 18 11,000 83%
8H28H(K) =) &l 18 11,000 83%
8H29H(&) =) &l 18 13,000 80%
8H30H(L) =) &l 18 13,000 80%
9H1H(AH) =) ] 18 11,000 82%

9H2H(KX) =) &l 18 9,000 85%

9H3H(K) =) e ] 18 9,000 85%

9H4H(K) =) &l 18 9,000 85%

9OH5H(%E) =) &l 18 11,000 82%

9H6H(%) =) &l 18 11,000 82%

9H7H(H) =) &l 18 11,000 82%

9H8H(H) =) &l 18 11,000 82%

9H9H(N) =) e ] 18 9,000 85%

9H10H(K) =) &l 18 9,000 85%
9H11H(K) e &l 18 9,000 85%
9OH12H(&) =) &l 18 11,000 82%
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9H13H(L) =) &l 18 19,000 69%
9H14H(H) e &l 18 15,000 75%
9H15H(H) =) &l 18 19,000 69%
9H16H(X) e &l 18 11,000 82%
9H17H(K) =) &l 18 9,000 85%
9H18H(XK) e &l 18 9,000 85%
9H19H(&) =) &l 18 11,000 82%
9H20H(X) e &l 18 19,000 69%
9H21H(H) =) &l 18 19,000 69%
9H22H(H) e &l 18 17,000 72%
9H23H(N) =) &l 18 19,000 69%
9H24H(K) e &l 18 9,000 85%
9H25H(XK) =) &l 18 9,000 85%
9H26H(E) NS, &l 18 11,000 82%
9H27H(L) =) &l 18 11,000 82%
9H28H(H) NS &l 18 11,000 82%
9H29H(H) =) &l 18 11,000 82%
9H30H(X) NS, &l 18 9,000 85%
10H1H(OK) =) &l 18 9,000 85%
10H2H(K) NS &l 18 9,000 85%
10H3H(E) =) &l 18 11,000 82%
10H4H(L) NS, &l 18 11,000 82%
10H5H(H) =) &l 18 11,000 82%
10H6H(H) NS &l 18 11,000 82%
10H7H(KX) =) &l 18 9,000 85%
10H8H(K) NS, &l 18 9,000 85%
10H9H(K) =) &l 18 9,000 85%
10H11H(X) =) &l 18 19,000 69%
10H12H(H) =) &l 18 17,000 72%
10H13H(AH) =) &l 18 19,000 69%
10H14H(N) =) &l 18 9,000 85%
10H15H0K) =) &l 18 9,000 85%
10H16H(K) =) &l 18 9,000 85%
10H17H(&®) =) &l 18 11,000 82%
10H18H(%) =) &l 18 11,000 82%
10H19H(H) =) &l 18 11,000 82%
10H20H(H) =) &l 18 11,000 82%
10H21H(N) =) &l 18 9,000 85%
10H22H(0K) =) &l 18 9,000 85%
10H23H(K) =) &l 18 9,000 85%
10H24H(£) =) &l 18 11,000 82%
10H25H(%) =) &l 18 11,000 82%
8H1H(%&) &l =) 19 17,000 73%

8H4H(H) &l =) 19 17,000 73%

8HSH(CN) &l =) 19 17,000 73%

8H6H(K) &l =) 19 17,000 73%

8H9H(%) &l =) 19 17,000 73%

8H10H(H) &l =) 19 17,000 73%
8H12H(N) &l = 19 17,000 73%
8H13H(K) &l =) 19 17,000 73%
8H14H(K) &l = 19 17,000 73%
8H15H(&) &l =) 19 17,000 73%
8H18H(H) & =) 19 13,000 80%
8H19H(N) &l =) 19 11,000 83%
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8H20H(K) &l =) 19 11,000 83%
8H21H(K) & e 19 11,000 83%
8H22H (&%) &l =) 19 13,000 80%
8H23H(X) & e 19 13,000 80%
8H25H(H) &l =) 19 13,000 80%
8H26H(X) & e 19 11,000 83%
8H27H(K) &l =) 19 11,000 83%
8H28H(K) & e 19 11,000 83%
8H29H (&) &l =) 19 13,000 80%
8H30H(X) & e 19 13,000 80%
9H1H(H) &l =) 19 11,000 82%

9H2H(KX) & e 19 9,000 85%

9H3H(K) &l =) 19 9,000 85%

9H4H(K) &l =) 19 9,000 85%

9OHS5H(%E) &l e 19 11,000 82%

9H6H(%) &l = 19 11,000 82%

9HS8H(H) &l e 19 11,000 82%

9R9E(X) 18 filie 19 9,000 85%

9H10H(K) &l =) 19 9,000 85%
9H11H(K) &l =) 19 9,000 85%
9H13H(L) &l e 19 19,000 69%
9H14H(H) &l = 19 15,000 75%
9H16H(X) &l e 19 11,000 82%
9H17H(K) &l =) 19 9,000 85%
9H18H(K) &l =) 19 9,000 85%
9H19H(&%) &l = 19 11,000 82%
9H20H(%) &l file 19 19,000 69%
9H21H(H) &l =) 19 19,000 69%
9H22H(H) &l file 19 17,000 72%
9H23H(N) &l =) 19 19,000 69%
9H24H(K) &l =) 19 9,000 85%
9H25H(XK) &l = 19 9,000 85%
9OH26H(&) &l file 19 11,000 82%
9H27H(%) &l = 19 11,000 82%
9H28H(H) &l file 19 11,000 82%
9H29H(H) &l =) 19 11,000 82%
9H30H(X) &l =) 19 9,000 85%
10H1H(K) &l = 19 9,000 85%
10H2H(K) &l =) 19 9,000 85%
10H3H(E) &l =) 19 11,000 82%
10H4H(XL) &l =) 19 11,000 82%
10H6H(AH) &l =) 19 11,000 82%
10H7HN) &l =) 19 9,000 85%
10H8H(K) &l =) 19 9,000 85%
10H9H(K) &l =) 19 9,000 85%
10H10H(%&) &l =) 19 11,000 82%
10H11H(X) &l =) 19 19,000 69%
10H14H(N) &l =) 19 9,000 85%
10H15H0K) &l = 19 9,000 85%
10H16H(K) &l =) 19 9,000 85%
10H17H(&) &l =) 19 11,000 82%
10H18H(%) &l =) 19 11,000 82%
10H19H(H) & =) 19 11,000 82%
10H20H(H) &l =) 19 11,000 82%
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10H218(CN) f& ] e 19 9,000 85%
10H22H(K) &l = 19 9,000 85%
10H23H(K) f& ] e 19 9,000 85%
10H24H(E) &l = 19 11,000 82%
10H25H(%) f& ] =) 19 11,000 82%
8H1H(&) NS, ZhE 20 9,000 78%
8H2H(L) W=y ZHaE 20 9,000 78%
8H3H(H) =y ZhE 20 9,000 78%
8H4H(H) W=y ZHaE 20 9,000 78%
8H5H(XN) =y ZhE 20 9,000 78%
8H6H(K) W=y ZHaE 20 9,000 78%
8H7H(RK) =y ZhE 20 9,000 78%
8H8H(E) W= ZHaE 20 9,000 78%
8H9H (L) =3 BEE 20 9,000 78%
8H10H(H) =y ZEaE 20 9,000 78%
8H11H((H) =y BEE 20 9,000 78%
8H12H(N) =y ZEaE 20 9,000 78%
8H13H(K) =y “EE 20 9,000 78%
8H14H(K) =y ZEE 20 9,000 78%
8H15H(&) = BEE 20 9,000 78%
8H16H (L) =y ZEaE 20 9,000 78%
8H17H(H) =y “EE 20 9,000 78%
8H18H(H) =y ZEE 20 8,000 81%
8H19H(XN) = BEE 20 7,000 83%
8H20H(K) =y ZEaE 20 7,000 83%
8H21H(XK) =y “EE 20 7,000 83%
8H22H (&) = ZHaE 20 8,000 81%
8H24H(H) =3 Bz 20 8,000 81%
8H25H(H) = ZHaE 20 8,000 81%
8H26H(XN) =3 “EE 20 7,000 83%
8H27H(K) = ZHaE 20 7,000 83%
8H28H(K) =3 Bz 20 7,000 83%
8H29H (&) = ZHaE 20 8,000 81%
8H30H(L) =3 “EE 20 8,000 81%
8H31H(H) = ZHaE 20 8,000 81%
9H1H((A) =3 Bz 20 7,000 82%
9H2H(X) =y ZaE 20 6,000 85%
9H3H(K) =3 “EE 20 6,000 85%
9H4H(K) = ZHaE 20 6,000 85%
9HS5H(E) W=y ZaE 20 7,000 82%
9H6H(L) W=y ZhE 20 7,000 82%
9H7H(H) W=y ZaE 20 7,000 82%
9H8H(A) W=y ZhE 20 7,000 82%
9H9H(X) W=y ZaE 20 6,000 85%
9H10H(K) W=y 2R 20 6,000 85%
9H11H(XK) W=y ZaE 20 6,000 85%
9H12H(&) W=y ZhE 20 7,000 82%
9H13H(%) W=y “aE 20 10,000 74%
9H14H(H) = ZhE 20 9,000 77%
9H15H(H) =y ZoaE 20 10,000 74%
9H16H(N) = ZhE 20 6,000 85%
9H17H(K) =y ZoaE 20 6,000 85%
9H18H(XK) = ZhE 20 6,000 85%
9OH19H(:&) =y ZaE 20 7,000 82%
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EE
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98208 (1)
98218 T
R T Gai : - ﬁ
: ) MA = y 2)5|%
o D : 20 10,000
: - 5 i 74%
24H(0K) = : 0 = 0
e T2 o : 9,000 74%
98 ) WaE — 0 : -
26H (%) = : 0 = 0
: - = . 74%
27H(L) = e s = 0
9828H(R) il 2 = 2 7000 -
98 = = 7 -
29H(A) = : s = 0
9ﬁ - = 7 82%
30H(AN) : 0 = 0
. - i . 829,
1H(K) 5 ° T .
- - s z 82%
2H(AK) : 0 .
108 =y = 6 -
3E(2) 5 = 0 .
10848 (* = = o c -
10)%55(5) s — % o -
1086H( ﬁ) e = 2 Zo -
= | T ooz 0 7 82%
N D . 20 /000
. 4 s . 82%
8H(K) = 0 o
. - s z 82%
O D . 20 /000
- 4 s Z 82%
108(2) = 0 -
i T2 o 2 6,000 85%
= | T2 e 6 85Y%
o z : < ,000 0
108138 (H = = o .00 -
. | - sa - 829%
148(N) : 0 -
108158 (K = o e 500 -
108 ) Wa = 1 -
2 : & 0,000 0
108 = = 7 -
= = : < ,000 0
108188 (+ =) = : con -
108 ) = = 0 6 -
19H(H) 5 : 0 = 0
. - 55 £ 85%
20H(A) = : 0 = O
- 5 o 2 7,000 82%
108 ) s = 0 7 .
22H(K) 5 : 0 . |
10823 (K =) nE : 6000 -
- | i 2oE 0 82
24H (%) = : 0 = O
o T2 o 2 6,000 85%
8SE1H(S) ) s EEE 28 e -
8H3H(H) “hE {UJEE - 7000 o
8B48(B) BEfE mi o i -
885H(N) “hE ﬂJ.IE o i .
8B 6H (7K) BEE ﬂui o s -
o ass mlz 2! 9,000 78%
8H8H(%) BEE ﬂui o s -
8H11H(A) BhE ﬂui o s .
53 so ﬂui 2 9,000 78%
O e 2 21 9,000 78%
8}% - i 9 78%
14H(K) = = o s 0
8H15H (%) 25 = 21 5.000 =
8}% - i 0 78%
16H(T) = = o s 0
8A17H(H) e = 21 5.000 =
8}% = i 78%
o - 2 2 9,000 0
8198 (A) ZEE e 2 5000 -
88208 (7K) BEE ﬂui o s -
8H21H(AK) “hE ﬂui o s -
ZEE e 2 700 "
: o 2,000 83%
7,000 o3
83%
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8H22H (%) &HE s 21 8,000 81%
8H23H(1) &HE s 21 8,000 81%
8H24H(H) ZhE s 21 8,000 81%
8H25H(B) &HE s 21 8,000 81%
88268 (N) ZhE s 21 7,000 83%
8H278(K) &HE s 21 7,000 83%
85288 (k) ZhE s 21 7,000 83%
8H29H (%) &HE s 21 8,000 81%
88318 (R) ZhE s 21 8,000 81%
981H(A) &HE s 21 7,000 82%
9828 (N) ZhE s 21 6,000 85%
9H3H (k) &HE s 21 6,000 85%
9848 (X) ZHE s 21 6,000 85%
985H(&) &= s 21 7,000 82%
986H(1) ZHE s 21 7,000 82%
987H(H) &HE s 21 7,000 82%
9A8H(A) ZHE s 21 7,000 82%
9H9H(N) &= s 21 6,000 85%
98108 (K) ZHE s 21 6,000 85%
9F11H(X) ZhE s 21 6,000 85%
OB 12H (%) ZHE s 21 7,000 82%
98 13H(1) &= s 21 10,000 74%
9A14H(H) ZHE s 21 9,000 77%
9815H(B) &= s 21 10,000 74%
98168 (N) ZHE s 21 6,000 85%
98 17H(K) &HE s 21 6,000 85%
9818H(X) &hE s 21 6,000 85%
9F19H(%) &HE s 21 7,000 82%
9H208(1) &HE s 21 10,000 74%
9H21H(H) &= s 21 10,000 74%
9H228(A) &HE s 21 9,000 77%
9H23H(X) &HE s 21 10,000 74%
98248 (K) &HE s 21 6,000 85%
98258 (k) ZhE s 21 6,000 85%
9H268 (%) &HE s 21 7,000 82%
9F27H(1) &HE s 21 7,000 82%
9H28H(H) &HE s 21 7,000 82%
9829H(B) &HE s 21 7,000 82%
9H830H () &HE s 21 6,000 85%
10818 (K) &= s 21 6,000 85%
1082H(K) &HE s 21 6,000 85%
10838(%) &= s 21 7,000 82%
10848 (1) &HE s 21 7,000 82%
1085H(H) &= s 21 7,000 82%
1086H(A) &HE s 21 7,000 82%
10878(X) &= s 21 6,000 85%
1088H(K) &HE s 21 6,000 85%
10859H(K) ZhE s 21 6,000 85%
10810H(%) &HE s 21 7,000 82%
108118 (%) &= s 21 10,000 74%
108 128(8) &HE s 21 9,000 77%
10813H(8) S E = 21 10,000 74%
108148 (N) &HE s 21 7,000 82%
108158 (K) ZHE s 21 6,000 85%
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EE
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10A16H(AK) ZhE a =000 o
108178(2) | &nE ﬁ; o s 5o
10H18H(*L) ZhaE =, : L S50
108198(A) | &&E A 5 24500 St
108208(8) | &&E A 5 24500 S50,
108218(R) | &mE A 5 £000 =
0828(K) | &&E A 5 2000 =7
108238(8) | &mE A 5 2000 =
108248(%) | 2mE A 5 4500 5o
108 256(1) 2R A 5 24500 550,
e T %ED)_% 21 7,000 82%
85208 (1) a ZEE > s e
EEEIG)) e ZEE o 5000 e
8548 () a ZEE > 5000 e
8E5E (X) e ZEE > 5000 e
860 (/) e ZEE > 5000 Lot
8878 (&) e ZEE > 5000 e
sE8H (%) = 25 > 5000 e
8B9R(L) e Soe > 5000 e
85 108(8) e ZEE o5 s Lot
8B11A(H) e 25 > 5000 Lo
8B 128(X) e ZEE > 5000 Lot
88 138 (/) e ZEE > 5000 e
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8H20H(K) BEE e 23 7,000 83%
8H21H(K) ZhE = 23 7,000 83%
8H22H (&) ZaE =) 23 8,000 81%
8H23H(L) ZhE = 23 8,000 81%
8H26H(XN) BEE e 23 7,000 83%
8H27H(K) ZhE = 23 7,000 83%
8H28H(K) BEE e 23 7,000 83%
8H30H (L) ZhE = 23 8,000 81%
8H31H(H) ZaE =) 23 8,000 81%
9H1H((A) 2EE = 23 7,000 82%
9OH2H(X) BEE e 23 6,000 85%
9OH3H(K) ZhE = 23 6,000 85%
9H4H(K) BEE e 23 6,000 85%
9HS5H(E) 2EE il= 23 7,000 82%
9H6H(L) ZaE =) 23 7,000 82%
9H7H(H) 2EE il= 23 7,000 82%
9H8H(A) ZaE =) 23 7,000 82%
9OH9H(X) 2EE il= 23 6,000 85%
9H10H(K) BEE =) 23 6,000 85%
9H11H(K) 2EE il= 23 6,000 85%
9H12H(:&) ZaE =) 23 7,000 82%
9H13H(X) 2EE il= 23 10,000 74%
9H14H(H) ZaE =) 23 9,000 77%
9H15H(H) 2EE il= 23 10,000 74%
9H17H(K) BEE =) 23 6,000 85%
9H18H(K) 2EE = 23 6,000 85%
9H19H(:&) ZaE =) 23 7,000 82%
9H20H(%E) 2EE =3 23 10,000 74%
9821H(H) ZaE =) 23 10,000 74%
9H22H(H) 2EE =3 23 9,000 77%
9H23H(N) g 2Y=s] =) 23 10,000 74%
9H24H(K) 2EE =3 23 6,000 85%
9H25H(K) g 2Y=s] =) 23 6,000 85%
9H26H(E) 2EE =3 23 7,000 82%
9H27H(X) ZaE =) 23 7,000 82%
9H28H(H) 2EE =3 23 7,000 82%
9829H(H) g 2Y=s] =) 23 7,000 82%
9H30H(XN) 2EE =3 23 6,000 85%
10H1H(K) g 2Y=s] =) 23 6,000 85%
10H2H(K) “aE =3 23 6,000 85%
10H3H(ER) ZaE =) 23 7,000 82%
1084H(%) “aE =3 23 7,000 82%
10HA5H(H) ZaE =) 23 7,000 82%
1086H(H) “aE =3 23 7,000 82%
10H7H(X) 2EE =) 23 6,000 85%
10H8H(K) “aE =3 23 6,000 85%
10H9H(RK) 2EE =) 23 6,000 85%
105108 (&) “aE =3 23 7,000 82%
10H11H(X) ZaE = 23 10,000 74%
10H12H(H) ZaE =3 23 9,000 77%
10H13H(AH) BEE = 23 10,000 74%
10H148(XN) ZaE =3 23 7,000 82%
10H15H(K) ZhE e 23 6,000 85%
10H16H(K) ZaE =3 23 6,000 85%




aE&e

(X5

EE

IBEX4Hi

— -
0B 178(%) iR = = .
108 180(1) e %i o i 550,
108 196(A) 2 i A > 24500 S50,
10H208(8) 2 i A o i 550,
108218(X) ZEE A > L =
108228 0K) 2 EE A o o =
108238 (K) ZEE A > YR =7
108240 (%) 2 &R A o o =
10H25H(L) ZhE ﬂ].lJIi > L S50
TS T %Elzl}: 23 7,000 82%
8H20(1) a Sie 7 5000 e
sB38(8) e T o H00s Lo
8540 (8) a Sie 7 5000 e
8B5R(X) = Soe 4 s e
8560 (K) na 2EE 7 5000 e
sE8H(2) a Soe 7 s Lot
8B90 (L) na Soe 7 5000 e
85 108 (0) = 25 o s Lot
sB110(8) na ZEE 7 5000 e
8B 128 (X) = 25 o s Lot
85130 (K) na ZEE 7 5000 e
85 140 (K) = 25 7 s Lot
8B 150(%) na ZEE 7 5000 e
8B 18E(H) = 25 o o Sio
88 198 (X) na ZEE 7 4500 S5
85208 (/) = ZEE o i 53
88210 (k) na Soe 7 24500 53
88220 (%) a e 7 i 5o
88230 (L) e 2EE o 5000 Sio
85248(0) e e 7 i Sio
858258 () a Soe o 5000 Sio
85268 (X) e e 7 i S5
852708 (K) a 2EE o 24500 530
85280 (K) e e 7 i 53
85200 (%) e Soe o 5000 5o
85308 (L) a e 7 i Sio
9B 28 () a Soe s £000 =
9838 () e e 7 i =
9B 48 (A) a Soe o 2500 =
9850 (%) a Soe 7 i 5o
9860 (L) na Sie o 24500 550,
EFEIE e = 24 7,000 82%
/ =) Z2hE 24 7,000 0
9B98(N) na 3 ' =
=] HE 24 6,000 0
98 108 (K) = 3 ' =
=) oE 24 6,000 g
9B 11E(A) a 3 ' =
=] HE 24 6,000 0
9B 128(%) = 3 ' 50
=) oE 24 7,000 0
9B13A(1) e 2R 24 ) S
ECEIG)) = 3 o e
=) oE 24 9,000 g
9B 158(8) e 3 ) L
] =] HE 24 10,000 0
9B 168 (X) e 3 ( =
=) oE 24 6,000 g
9B 178 (K) a 25 ' =
= 24 6,000 0
9B 188 (X) e 3 ' =7
=) oE 24 6,000 g
9B 190 (%) a ZEE ' 520,
9H20H(*L) IL&E %E)f > T S
= 24 10,000 74%




aE&e

(X5

EE

IBEX4Hi

98218 (R)
98228 T
9823H EE') e a5 2 - |
; ) MA = : B3R
24H(K) 5 ° 24 o
: - 5 . 74%
- : : = ,000 0
: - = : 77%
25 2 > 0,000 0
98 = = 6 -
- : : = ,000 ()
: - = . 85%
s = : > ,000 0
98 = = 7 -
29H(A) = : : = 0
98 = = 7 -
e = : > ,000 0
: - s z 82%
1H(K) = z -
. - i . 829,
o D - 24 000
- - s : 82%
35@) - 24 000
. - i : 859%
45 (1) 5 = 24 .
25 T2 e = 6,000 85%
10%65(}%) m oo 9 7,000 859,
10%75(9\/) Ts ooz = 7,000 82%
108 ) =) = 7 .
8H(7K) 5 = T o
. 4 s . 82%
9H(AK) : 7 -
108 = = 6 -
108(2) 5 z T -
. - = 6 85%
118(1) = z -
108 12H(H = = 2 7000 -
108 ) Wa = 7 .
13H(A) : : = O
108 = o i =
148(N) 5 z T =
108 s = 9 .
15H(K) = : 24 = O
108 = = : -
i D - 24 0,000
108178(& = o= : 6000 -
108 ) =) = 4 6 -
18H (%) 5 : : = 0
108198(8 =) = : o -
108 ) = = 4 7 .
20HA) 5 : 2 = 0
108218(N =) = : 7000 -
108 ) = = 4 7 .
22H(7K) 5 : 2 = 0
108238 (A& =) = - 6000 -
108248 (ﬁ) e - : o -
108 ) s = 4 -
25H (%) = : 2 = O
SH - = 85%
1H(E) T e 2 = 0
8B2H(*) ZhE mJE 2 7000 -
gt 2o mli 2 7,000 82%
8H5H(N) BEfE nui - s .
s ass mli 2 9,000 78%
8A7H(XK) BEE ﬂhi 2 i -
8HSE (%) ZEE e 2 5000 -
890 (1) ZhE e 2 5000 -
8A100(0) ZEE e 2 5000 -
EREEIG)) ZhE e 2 5000 -
8H12H(N) 25 = 25 5.000 =
e 2o E e 9 -
13HK) = = 2 0 0
8A14H (AK) 25 = 25 5.000 =
e 2o E e 9 -
15H (&) = = - s 0
o e 2 25 9,000 78%
e ZhE e -
18H(AH) = = - i 0
8198 (A) ZEE e 2 5000 -
8H20H (/K) ZhE ﬂui 22 5000 -
8H21H(XK) ZhE ﬂui 2 7000 -
ZEE e 2 700 "
= 25 7,000 53
2,000 83%
83%




aE&e

(X5

EE

IBEX4Hi

EEER F5|x

8H22H (&) ZaE =) 25 8,000 81%
8H25H(H) ZhE = 25 8,000 81%
8H26H(XN) ZaE e 25 7,000 83%
8H27H(K) ZhE = 25 7,000 83%
8H28H(K) ZaE e 25 7,000 83%
8H29H (&) ZhE = 25 8,000 81%
8H30H(%) ZaE =) 25 8,000 81%
8H31H(H) ZhE = 25 8,000 81%
9H1H(A) ZaE =) 25 7,000 82%
9OH2B(X) 2EE = 25 6,000 85%
9H3H(K) BEE e 25 6,000 85%
9H4H(RK) 2EE = 25 6,000 85%
9OHS5H(E) ZaE =) 25 7,000 82%
9H6H(L) 2EE il= 25 7,000 82%
987H(H) ZaE =) 25 7,000 82%
9H8H(AH) 2EE il= 25 7,000 82%
9H9H(X) ZaE =) 25 6,000 85%
9H10H(K) 2EE il= 25 6,000 85%
9H11H(K) ZaE =) 25 6,000 85%
9OH12H(%&) 2EE il= 25 7,000 82%
9H13H(%) ZaE =) 25 10,000 74%
9H15H(H) 2EE il= 25 10,000 74%
9H17H(K) BEE =) 25 6,000 85%
9H18H(K) 2EE il= 25 6,000 85%
9OH19H (&) ZaE =) 25 7,000 82%
9H20H(%) 2EE = 25 10,000 74%
9821H(H) ZaE =) 25 10,000 74%
9H22H(H) 2EE =3 25 9,000 77%
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9H25H(XK) ZaE =) 25 6,000 85%
9H26H(E) 2EE =3 25 7,000 82%
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10H22H(K) W=y L5 39 10,100 81%
10H23H(K) NS, NS 39 10,100 81%
10H24H(%) W=y INS; 39 10,100 81%
10H25H(%) NS, NS 39 10,600 80%
8H24H(H) NS =) 40 11,600 79%
8H25H(H) L5 = 40 11,600 79%
8H26H(XN) NS =) 40 11,100 80%
8H27H(K) INZ; = 40 10,100 82%
9H1H(A) L5 =) 40 10,600 80%

9OH2B(X) INZ; = 40 10,100 81%

9H3H(K) NS =) 40 10,100 81%

9H4H(RK) L5 = 40 9,100 83%

9H6H(L) L5 =) 40 10,600 80%

9H7H(H) /NS = 40 10,600 80%

9H8H(A) L5 =) 40 10,600 80%

9H9H(X) /NS il= 40 11,100 79%

9H10H(K) INZ] =) 40 10,600 80%
9H11H(K) /NS il= 40 11,100 79%
9H14H(H) L5 =) 40 11,600 78%
9H15H(H) /NS = 40 11,600 78%
9H16H(N) INZ] =) 40 11,600 78%
9H17H(K) /NS = 40 7,350 86%
9H18H(XK) L5 =) 40 10,600 80%
9OH19H(&) /NS = 40 11,600 78%
9H20H(x) L5 =) 40 11,100 79%
9H21H(H) /NS = 40 11,600 78%
9822H(H) NS =) 40 11,100 79%
9H23H(XN) /NS = 40 10,100 81%
9H25H(K) NS =) 40 10,100 81%
9H26H(%&) /NS = 40 10,100 81%
9H27H(X) NS =) 40 10,600 80%
9H28H(H) /NS = 40 10,600 80%
9829H(H) NS =) 40 11,100 79%
9H30H(X) L5 (U=} 40 11,100 79%
10H1H(K) NS =) 40 10,100 81%
10H2H(K) /NS = 40 9,100 83%
10H3H(ER) NS =) 40 11,100 79%
10H4H(L) /NS = 40 11,100 79%
10H5H((H) NS =) 40 11,100 79%
1086H(H) /NS =) 40 10,100 81%
10H8H(K) L5 (= 40 9,100 83%
10H9H(RK) /NS =) 40 9,100 83%
10H10H(%&) L5 =) 40 11,100 79%
10A11H(%) /NS =) 40 11,600 78%
10H12H(H) L5 =) 40 11,100 79%
10H13H((H) /NS =) 40 11,600 78%
10H14H(AN) L5 (= 40 11,100 79%
10H15H(K) /NS =) 40 10,100 81%
10H17H(%&) L5 = 40 10,600 80%
10H19H(H) NS =) 40 10,600 80%
10H20H(H) L5 (= 40 11,100 79%
10H21H(N) NS =) 40 10,100 81%
10H22H(K) L5 =) 40 11,100 79%
10H23H(K) NS =) 40 11,100 79%
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10H24H(%) NS =) 40 11,100 79%
10H25H(%) INZ; = 40 10,600 80%
8H15H(:E) W=y INS; 41 11,600 79%
8H19H(N) NS, NS 41 11,600 79%
8H21H(K) W=y INS; 41 10,600 81%
8H22H(E) NS, NS 41 11,600 79%
8H23H(L) W=y INS; 41 11,100 80%
8H24H(H) NS, NS 41 11,600 79%
8H26H(XN) W=y INS; 41 10,600 81%
8H27H(K) NS, NS 41 10,600 81%
8H28H(K) W=y INS; 41 10,100 82%
8H29H (&) NS, NS 41 11,100 80%
8H30H(%) W= INS; 41 11,600 79%
9H1H((A) =3 L5 41 11,600 78%

9H2H(X) =y L5 41 9,100 83%

9H3H(K) =y L5 41 10,600 80%

9H4H(RK) =y L5 41 10,600 80%

9OH5H(E) NS, L5 41 10,100 81%

9H6H(L) =y L5 41 10,100 81%

9H7H(H) = L5 41 10,600 80%

9H9H(X) =y L5 41 10,100 81%

9H10H(K) =y L5 41 10,100 81%
9H11H(RK) =y L5 41 9,100 83%
9H14H(H) = L5 41 11,600 78%
9H16H(N) =y L5 41 10,600 80%
9H17H(K) =y L5 41 10,100 81%
9H18H(XK) = L5 41 10,600 80%
9H20H(%) =) L5 41 11,600 78%
9821H(H) = L5 41 11,600 78%
9H22H(H) =3 L5 41 10,600 80%
9H23H(N) = L5 41 11,600 78%
9H24H(K) =3 L5 41 11,100 79%
9H25H(K) = L5 41 10,100 81%
9H27H(X) =) L5 41 10,600 80%
9H28H(H) = L5 41 10,100 81%
9H29H(H) =3 L5 41 10,100 81%
9H30H(N) =y L5 41 8,100 85%
10H1H(K) =3 L5 41 7,350 86%
10H2H(K) = L5 41 7,350 86%
10H3H(GE) W=y IN=; 41 10,100 81%
10H4H(L) W=y IN=] 41 10,100 81%
1085H(H) W=y IN=; 41 10,100 81%
10H6H(H) W=y L5 41 10,100 81%
10H7H(X) W=y IN=; 41 9,100 83%
10H8H(K) W=y L5 41 9,100 83%
10H9H(RK) W=y IN=; 41 10,600 80%
10H12H(H) W=y IN=] 41 7,350 86%
10H14H(N) W=y IN=; 41 9,100 83%
10H15H(K) = IN=; 41 7,350 86%
10H16H(K) =y IN=; 41 9,100 83%
10H18H(X) = L5 41 10,600 80%
10H19H(H) =y IN=; 41 10,600 80%
10H20H(H) = IN=] 41 10,100 81%
10H21H(N) =y IN=; 41 9,100 83%
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108228 (K) s N 41 9,100 83%
105238 (k) s LE 41 9,100 83%
10H248(2) s N 41 9,100 83%
108258 (%) s LE 41 9,100 83%
88208 (7K) LB s 42 11,600 79%
8H21H(X) LB s 42 10,600 81%
8H22H (%) LB s 42 11,600 79%
8H25H(B) LB s 42 11,100 80%
88268 (N) LB s 42 11,100 80%
8H278(K) LB s 42 8,100 85%
85288 (K) LB s 42 8,100 85%
8H29H (%) LB s 42 11,600 79%
88308 (1) LE s 42 11,600 79%
8H31H(H) LB s 42 10,100 82%
9A18(A) LB s 42 10,600 80%
9F28(X) LB s 42 10,100 81%
9A3H(K) LB s 42 10,100 81%
984H(X) LB s 42 10,600 80%
986H(1) LB s 42 10,600 80%
987H(H) LB s 42 11,100 79%
9A8H(A) LB s 42 10,600 80%
9H9H(N) LB s 42 9,100 83%
98108 (K) LB s 42 10,600 80%
9F11H(X) LB s 42 11,100 79%
98178 (K) LB s 42 7,350 86%
9H18H(K) LB s 42 10,600 80%
98208 (1) LB s 42 11,100 79%
9H821H(H) LB s 42 11,100 79%
9H228(A) LB s 42 11,100 79%
9824H(K) LB s 42 10,600 80%
9H25H(X) LB s 42 10,100 81%
9H26H (%) LB s 42 10,100 81%
9F278(1) LB s 42 10,100 81%
9H28H(H) LB s 42 11,600 78%
9H829H(B) LB s 42 10,600 80%
98308 (X) LB s 42 10,600 80%
10818 (K) LB s 42 7,350 86%
10828 (X) LB s 42 9,100 83%
1084H(1) LB s 42 9,100 83%
1085H(H) LB s 42 10,600 80%
10H6H(A) LB s 42 10,600 80%
10878(X) LB s 42 10,600 80%
1088H(K) LB s 42 7,350 86%
10859H(K) LB s 42 9,100 83%
108108 (%) LB s 42 9,100 83%
108118(%) LB s 42 11,100 79%
108 128(8) LB s 42 9,100 83%
108158 (K) LB s 42 10,100 81%
108168 (A) LB s 42 9,100 83%
108178(&) LE s 42 10,600 80%
108 18H(T1) LB s 42 11,100 79%
108218 (N) LB s 42 7,350 86%
108228 (K) LB s 42 10,100 81%
108238 (k) LB s 42 9,100 83%
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10H24H(%) NS =) 42 9,100 83%
10H25H(%) INZ; = 42 9,100 83%
8H20H(K) W=y INS; 43 10,600 81%
8H21H(K) NS, NS 43 11,600 79%
8H22H(&) W=y INS; 43 11,100 80%
8H23H (L) NS, NS 43 11,100 80%
8H26H(XN) W=y INS; 43 10,600 81%
8H27H(K) NS, NS 43 11,100 80%
8H28H(K) W=y INS; 43 9,100 83%
8H29H (&) NS, NS 43 11,600 79%
8H30H(x) W=y INS; 43 11,600 79%
9OH2B(X) NS, NS 43 10,100 81%
9H3H(K) W= INS; 43 9,100 83%
9H4H(K) =3 IN=] 43 11,100 79%
9HS5H(E) =y L5 43 10,600 80%
9H6H(L) NS L5 43 9,100 83%
987H(H) =y L5 43 11,100 79%
9H8H(H) (U= L5 43 11,100 79%
9H9H(X) =y L5 43 9,100 83%
9H10H(K) = L5 43 7,350 86%
9H11H(K) =y L5 43 10,600 80%
9OH12H(%&) NS, L5 43 11,600 78%
9H13H(%) =y L5 43 11,100 79%
9H14H(H) = IN=] 43 11,100 79%
9H16H(N) =y L5 43 10,600 80%
9H17H(K) =y L5 43 10,600 80%
9H18H(XK) = L5 43 10,600 80%
9H19H(%&) =) L5 43 11,100 79%
9H20H(X) = L5 43 11,600 78%
9H21H(H) =3 L5 43 11,100 79%
9822H(H) = L5 43 10,600 80%
9H23H(X) =3 L5 43 10,600 80%
9H24H(K) = L5 43 10,100 81%
9H25H(XK) =3 L5 43 9,100 83%
9H26H(:&) = L5 43 10,600 80%
9H27H(X) =) L5 43 10,100 81%
9H28H(H) =y L5 43 10,600 80%
9H29H(H) =3 L5 43 10,600 80%
9H30H(N) = L5 43 8,100 85%
10H1H(K) W=y IN=; 43 8,100 85%
10H2H(K) W=y L5 43 10,600 80%
10H3H(GE) W=y IN=; 43 10,600 80%
10H4H(L) W=y IN=] 43 10,100 81%
1086H(H) W=y IN=; 43 10,600 80%
10H7H(XN) W=y L5 43 9,100 83%
10H8H(K) W=y IN=; 43 9,100 83%
10H9H(RK) W=y L5 43 10,100 81%
10H10H(%&) W=y IN=; 43 11,600 78%
10H12H(H) = L5 43 11,100 79%
10H14H(N) =y IN=; 43 10,100 81%
10H15H(K) = IN=; 43 9,100 83%
10H16H(K) =y IN=; 43 9,100 83%
10H17H(%&) = IN=] 43 11,600 78%
10H18H(%) =y IN=; 43 10,100 81%
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10H21H(N) W=y INS; 43 9,100 83%
10H22H(K) NS, NS 43 8,100 85%
10H23H(K) W=y INS; 43 10,100 81%
10H24H(%&) NS, NS 43 10,600 80%
8H18H(H) NS =) 44 11,600 79%
8H19H(N) L5 = 44 11,600 79%
8H20H(K) NS =) 44 11,100 80%
8H24H(H) INZ; = 44 11,600 79%
8H25H(H) L5 =) 44 11,100 80%
8H26H(N) INZ; = 44 8,100 85%
8H27H(K) NS =) 44 10,600 81%
8H28H(K) L5 = 44 11,100 80%
8H29H (&) L5 =) 44 10,100 82%
8H30H(X) /NS = 44 10,100 82%
8H31H(H) L5 =) 44 11,600 79%
9H1H((A) /NS il= 44 11,100 79%
9H2H(X) INZ] =) 44 10,100 81%
9H3H(K) /NS = 44 10,600 80%
9H6H(L) L5 =) 44 10,600 80%
9H8H(AH) /NS = 44 10,100 81%
9H9H(X) INZ] =) 44 10,100 81%
9H10H(K) /NS = 44 10,600 80%
9H14H(H) L5 =) 44 11,100 79%
9H16H(N) /NS = 44 10,600 80%
9H17H(K) L5 =) 44 10,100 81%
9H18H(K) /NS = 44 10,100 81%
9H20H(X) NS =) 44 10,600 80%
9H23H(XN) /NS = 44 11,600 78%
9H24H(K) NS =) 44 10,100 81%
9H25H(K) /NS = 44 10,600 80%
9H26H(:&) NS =) 44 10,600 80%
9H28H(H) /NS = 44 10,600 80%
9829H(H) NS =) 44 10,600 80%
9H30H(XN) /NS = 44 10,100 81%
10H1H(K) NS =) 44 10,100 81%
10H2H(K) /NS = 44 9,100 83%
10H3H(ER) NS =) 44 10,600 80%
10H4H(L) /NS = 44 10,600 80%
10H6H(H) NS =) 44 9,100 83%
10H7H(N) L5 (=} 44 10,100 81%
10H8H(K) L5 (= 44 7,350 86%
10H9H(RK) /NS =) 44 9,100 83%
10H10H(%&) L5 =) 14 11,100 79%
10A11H(%) /NS =) 44 11,100 79%
10H12H(H) L5 =) 14 11,100 79%
10H14HX) L5 (=} 44 10,100 81%
10H15H(0K) L5 (= 44 10,600 80%
10H16H(K) /NS =) 44 9,100 83%
10H18H(X) L5 = 14 9,100 83%
10H20H(H) NS =) 44 9,100 83%
10H21H(AN) L5 (= 44 9,100 83%
10H22H(K) NS =) 44 10,100 81%
10H23H(K) L5 =) 44 7,350 86%
10H24H(%) NS =) 44 10,600 80%
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10H25H(%) NS =) 44 10,100 81%
8H1H(%) NS, ALIR 45 9,000 78%
8H3H(H) W=y ALIR 45 9,000 78%
8H4H(H) =y ALIR 45 9,000 78%
8H5H(N) W=y ALIR 45 9,000 78%
8H6H(K) NS, ALIR 45 9,000 78%
8H7H(K) (= ALIR 45 9,000 78%
8H8H(&) NS, ALIR 45 9,000 78%
8H11H(H) W=y ALIR 45 9,000 78%
8H12H(XN) NS, ALIR 45 9,000 78%
8H13H(K) (= ALIR 45 9,000 78%
8H14H(K) NS, ALIR 45 9,000 78%
8H15H(:&) W= ALIR 45 9,000 78%
8H16H (LX) =3 ALIE 45 9,000 78%
8H17H(H) =y ALIR 45 9,000 78%
8H18H(H) =y ALIE 45 8,000 81%
8H19H(N) (= ALIR 45 7,000 83%
8H20H(K) =y ALIE 45 7,000 83%
8H21H(K) (= ALIR 45 7,000 83%
8H22H(&) = ALIE 45 8,000 81%
8H23H(X) =y ALIR 45 8,000 81%
8H24H(H) =y ALIE 45 8,000 81%
8H25H(H) =y ALIR 45 8,000 81%
8H26H(N) = ALIE 45 7,000 83%
8H27H(K) (= ALIR 45 7,000 83%
8H28H(K) =y ALIE 45 7,000 83%
8H31H(H) = ALIR 45 8,000 81%
9H1H(A) =3 ALIR 45 7,000 82%
9H2H(X) = ALIR 45 5,000 87%
9H3H(K) =3 ALIR 45 5,000 87%
9H4H(K) = ALIR 45 5,000 87%
9HS5H(E) =3 ALIR 45 7,000 82%
987H(H) = ALIR 45 7,000 82%
9H8H(AH) =3 ALIR 45 7,000 82%
9H9H(X) = ALIR 45 5,000 87%
9H10H(K) =3 ALIR 45 5,000 87%
9H11H(K) =y ALIR 45 5,000 87%
9OH12H(%&) =3 ALIR 45 7,000 82%
9H14H(H) = ALIR 45 9,000 77%
9H15H(H) W=y ALIR 45 10,000 75%
9H16H(N) W=y ALIR 45 5,000 87%
9H17H(K) W=y ALIR 45 5,000 87%
9H18H(XK) W=y ALIR 45 5,000 87%
9H19H(:&) W=y ALIR 45 7,000 82%
9H20H(X) W=y ALIR 45 10,000 75%
9H21H((H) W=y ALIR 45 10,000 75%
9H22H(H) W=y ALIR 45 9,000 77%
9H23H(X) W=y ALIR 45 10,000 75%
9H24H(K) = ALIR 45 5,000 87%
9H25H(K) =y ALIR 45 5,000 87%
9H26H(&) = ALIR 45 7,000 82%
9H28H(H) =y ALIR 45 7,000 82%
9H29H(H) = ALIR 45 7,000 82%
9H30H(X) =y ALIR 45 5,000 87%
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10H1H(K) =) ALIR 45 5,000 87%
10H2H(K) e ALMR 45 5,000 87%
10H3H(E) =) ALIR 45 7,000 82%
10H4H(XL) e ALMR 45 7,000 82%
10H5H(H) =) ALIR 45 7,000 82%
10H6H(H) e ALMR 45 7,000 82%
10H7H(X) =) ALIR 45 5,000 87%
10H8H(K) e ALMR 45 5,000 87%
10H9H(K) =) ALIR 45 5,000 87%
10H10H(£&) e ALMR 45 7,000 82%
10H11H(X) =) ALIR 45 10,000 75%
10H12H(H) e ALMR 45 9,000 77%
10H13H(H) =) ALIR 45 10,000 75%
10H14H(N) NS, ALIR 45 7,000 82%
10H15H(0K) =) ALIR 45 5,000 87%
10H16H(XK) NS ALIR 45 5,000 87%
10817H(&) =) ALIR 45 7,000 82%
10H18H(%) NS, ALIR 45 7,000 82%
10H19H(H) =) ALIR 45 7,000 82%
10H206(H) e ALI% 45 7,000 82%
10H21HCN) =) ALIR 45 5,000 87%
10H22H(K) NS, ALIR 45 5,000 87%
10H23H(XK) =) ALIR 45 5,000 87%
10H24H(%) NS ALIR 45 7,000 82%
10H25H(%) =) ALIR 45 7,000 82%
8H1H(E) ALIR =) 46 9,000 78%

8H2H(%) ALIR file 46 9,000 78%

8H3H(H) ALIR = 46 9,000 78%

8H4H(H) ALIR =) 46 9,000 78%

8H5H(X) ALIR = 46 9,000 78%

8H6H(K) ALIR =) 46 9,000 78%

8H7H(K) ALIE = 46 9,000 78%

8H8H(%E) ALIR file 46 9,000 78%

8H9H(L) ALIR = 46 9,000 78%

8H10H(H) ALIR file 46 9,000 78%
8H11H(H) ALIR = 46 9,000 78%
8H12H(X) ALIR =) 46 9,000 78%
8H13H(K) ALIR = 46 9,000 78%
8H14H(K) ALIR =) 46 9,000 78%
8H15H(%&) ALIR =) 46 9,000 78%
8H18H(H) ALIR =) 46 8,000 81%
8H19H(N) ALIR =) 46 7,000 83%
8H20H(K) ALIR =) 46 7,000 83%
8H21H(K) ALIR =) 46 7,000 83%
8H22H(&) ALIR =) 46 8,000 81%
8H23H(L) ALIR =) 46 8,000 81%
8H24H(H) ALIR =) 46 8,000 81%
8H25H(H) ALIR =) 46 8,000 81%
8H26H(XN) ALIR = 46 7,000 83%
8H27H(K) ALIR =) 46 7,000 83%
8H28H(K) ALIR = 46 7,000 83%
8H29H (&) ALIR =) 46 8,000 81%
8H30H(L) ALIR =) 46 8,000 81%
8H31H(H) ALIR =) 46 8,000 81%
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9H1H(A) ALIR =) 46 7,000 82%
9OH2B(X) ALI = 46 5,000 87%
9H3H(K) AL =) 46 5,000 87%
9H4H(RK) ALI = 46 5,000 87%
9HS5H(E) ALIR =) 46 7,000 82%
9OH6H(TL) ALIR = 46 7,000 82%
9H8H(AH) ALIR =) 46 7,000 82%
9OH9H(X) ALI = 46 5,000 87%
9H10H(K) AL =) 46 5,000 87%
9H11H(K) ALIR = 46 5,000 87%
9OH12H(:&) ALIR =) 46 7,000 82%
9H13H(%) ALIR = 46 10,000 75%
9H14H(H) ALIR =) 46 9,000 77%
9H15H((H) ALIR il= 46 10,000 75%
9H16H(N) AL =) 46 5,000 87%
9H17H(K) ALIE il= 46 5,000 87%
9H18H(XK) AL =) 46 5,000 87%
9OH19H(&) ALIE il= 46 7,000 82%
9H20H(x) ALIR =) 46 10,000 75%
9H21H((H) ALIE il= 46 10,000 75%
9H22H(H) ALIR =) 46 9,000 77%
9H23H(XN) ALIE il= 46 10,000 75%
9H24H(K) AL =) 46 5,000 87%
9H25H(K) ALIE il= 46 5,000 87%
9H26H(:&) ALIR =) 46 7,000 82%
9H27H(X) ALIE = 46 7,000 82%
9H28H(H) AL =) 46 7,000 82%
9H29H(AH) ALIE =3 46 7,000 82%
9H30H(N) AL =) 46 5,000 87%
10H1H(K) ALIE =3 46 5,000 87%
10H2H(K) AL =) 46 5,000 87%
10H3H(GE) ALIE =3 46 7,000 82%
10H4H(L) AL =) 46 7,000 82%
1085H((H) ALIE =3 46 7,000 82%
10H6H(H) AL =) 46 7,000 82%
10H7H(X) ALIE =3 46 5,000 87%
10H8H(K) AL =y 46 5,000 87%
10H9H(RK) ALIE =3 46 5,000 87%
105108 (&) AL =) 46 7,000 82%
10A11H(%) ALIE =3 46 10,000 75%
10H12H(H) ALIR =) 46 9,000 77%
10H13H((H) ALIE =3 46 10,000 75%
10H14H(N) ALIR (= 46 7,000 82%
10H15H(K) ALIE =3 46 5,000 87%
10H16H(K) ALIR (= 46 5,000 87%
10H17H(%&) ALIE =3 46 7,000 82%
10H18H(X) ALIR =) 46 7,000 82%
10H19H(H) ALIE =3 46 7,000 82%
10H20H(H) ALIR (= 46 7,000 82%
10H21H(N) ALIE =3 46 5,000 87%
10H22H(K) ALIR (= 46 5,000 87%
10H23H(K) ALIE =3 46 5,000 87%
10H24H(%&) ALIR =) 46 7,000 82%
10H25H(%) ALIR =3 46 7,000 82%
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8H1H(%&) =) ALIR 47 9,000 78%
8H2H(%) e ALMR 47 9,000 78%
8H3H(H) =) ALIR 47 9,000 78%
8H4H(H) e ALMR 47 9,000 78%
8H5H(XN) =) ALIR 47 9,000 78%
8H6H(K) e ALMR 47 9,000 78%
8H7H(K) =) ALIR 47 9,000 78%
8HB8H(&E) e ALMR 47 9,000 78%
8H10H(H) =) ALIR 47 9,000 78%
8H11H(H) e ALMR 47 9,000 78%
8H12H(N) =) ALIR 47 9,000 78%
8H13H(K) e ALMR 47 9,000 78%
8H14H(XK) =) ALIR 47 9,000 78%
8H15H(&%) NS, ALIR 47 9,000 78%
8H16H(L) =) ALIR 47 9,000 78%
8H17H(H) NS ALIR 47 9,000 78%
8H18H(H) =) ALIR 47 8,000 81%
8A 198 (J) e ALI% 47 7,000 83%
8H20H(K) =) ALIR 47 7,000 83%
8H21H(K) NS ALIR 47 7,000 83%
8H22H (%) =) ALIR 47 8,000 81%
8A236 (1) fils ALI% 47 8,000 81%
8H24H(H) =) ALIR 47 8,000 81%
8256 (7) e ALI% 47 8,000 81%
8H26H(X) =) ALIR 47 7,000 83%
88276 (K) s 1LI% 47 7,000 83%
8H28H(K) =) ALIR 47 7,000 83%
8H29H (&) =) ALIR 47 8,000 81%
8H30H(L) =) ALIR 47 8,000 81%
8A316(H) s ALI% 47 8,000 81%
9H1H(H) =) ALIR 47 7,000 82%
9R2E () s ALI% 47 5,000 87%
9H3H(K) =) ALIR 47 5,000 87%
9H4H(K) =) ALIR 47 5,000 87%
9OHS5H(%E) =) ALIR 47 7,000 82%
9H7H(H) =) ALIR 47 7,000 82%
9HS8H(H) =) ALIR 47 7,000 82%
9R9E () s ALI% 47 5,000 87%
9H10H(K) =) ALIR 47 5,000 87%
9H11H(XK) =) ALIR 47 5,000 87%
OH12H(&) =) ALIR 47 7,000 82%
9H14H(H) =) ALIR 47 9,000 77%
9H15H(H) =) ALIR 47 10,000 75%
9H16H(N) =) ALIR 47 5,000 87%
9H17H(K) =) ALIR 47 5,000 87%
9H18H(XK) =) ALIR 47 5,000 87%
9OH19H(&) =) ALIR 47 7,000 82%
9H20H(%) =) ALIR 47 10,000 75%
9H21H(H) =) ALIR 47 10,000 75%
9H22H(H) =) ALIR 47 9,000 77%
9H23H(XN) =) ALIR 47 10,000 75%
9H24H(K) =) ALIR 47 5,000 87%
9H25H(K) e ALIR 47 5,000 87%
9H26H(%&) =) ALIR 47 7,000 82%
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9H27H(XL) =) ALIR 47 7,000 82%
9H28H(H) e ALMR 47 7,000 82%
9H29H(H) =) ALIR 47 7,000 82%
9H30H(X) e ALMR 47 5,000 87%
10H1H(K) =) ALIR 47 5,000 87%
10H2H(K) e ALMR 47 5,000 87%
10H3H(E) =) ALIR 47 7,000 82%
10H4H(XL) e ALMR 47 7,000 82%
10H5H(H) =) ALIR 47 7,000 82%
10H6H(H) e ALMR 47 7,000 82%
10H7H(X) =) ALIR 47 5,000 87%
10H8H(K) e ALMR 47 5,000 87%
10H9H(K) =) ALIR 47 5,000 87%
10H10H(®) NS, ALIR 47 7,000 82%
10H11H(LX) =) ALIR 47 10,000 75%
10H12H(H) NS ALIR 47 9,000 77%
10H13H(H) =) ALIR 47 10,000 75%
10H14HN) NS, ALIR 47 7,000 82%
10H15H(0K) =) ALIR 47 5,000 87%
10H16H(XK) NS ALIR 47 5,000 87%
10817H(&) =) ALIR 47 7,000 82%
10H18H(%) NS, ALIR 47 7,000 82%
10H19H(H) =) ALIR 47 7,000 82%
10H206(H) e ALI% 47 7,000 82%
10H21HCN) =) ALIR 47 5,000 87%
10H22H(K) NS, ALIR 47 5,000 87%
10H23H(XK) =) ALIR 47 5,000 87%
10H24H(%) =) ALIR 47 7,000 82%
10H25H(%) =) ALIR 47 7,000 82%
8A1E (%) 1LIE filies 48 9,000 78%

8H2H(%) ALIR file 48 9,000 78%

8H3H(H) ALIR = 48 9,000 78%

8H4H(H) ALIR =) 48 9,000 78%

8H5H(X) ALIR = 48 9,000 78%

8H6H(K) ALIR =) 48 9,000 78%

8H7H(K) ALIE = 48 9,000 78%

8H8H(%E) ALIR file 48 9,000 78%

8H9H(L) ALIR = 48 9,000 78%

8H10H(H) ALIR file 48 9,000 78%
8H11H(H) ALIR =) 48 9,000 78%
8H12H(AN) ALIR =) 48 9,000 78%
8H13H(K) ALIR =) 48 9,000 78%
8H14H(K) ALIR =) 48 9,000 78%
8H18H(H) ALIR =) 48 8,000 81%
8H19H(N) ALIR =) 48 7,000 83%
8H20H(K) ALIR =) 48 7,000 83%
8H21H(K) ALIR =) 48 7,000 83%
8H22H(&) ALIR =) 48 8,000 81%
8H23H(L) ALIR =) 48 8,000 81%
8H24H(H) ALIR =) 48 8,000 81%
8H25H(H) ALIR = 48 8,000 81%
8H26H(N) ALIR =) 48 7,000 83%
8H27H(K) ALIR =) 48 7,000 83%
8H28H(K) ALIR =) 48 7,000 83%
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8H29H (&) ALIR =) 48 8,000 81%
8H30H (L) ALI = 48 8,000 81%
8H31H(H) ALIR =) 48 8,000 81%
9H1H((A) ALI = 48 7,000 82%
9OH2H(X) AL =) 48 5,000 87%
9H3H(K) ALIR = 48 5,000 87%
9H4H(K) AL =) 48 5,000 87%
9H5H(&) ALIR = 48 7,000 82%
9H6H(L) ALIR =) 48 7,000 82%
9H8H(AH) ALI = 48 7,000 82%
9H9H(N) AL =) 48 5,000 87%
9H10H(K) ALIR = 48 5,000 87%
9H11H(K) AL =) 48 5,000 87%
9OH12H(&) ALIR il= 48 7,000 82%
9H13H(%) ALIR =) 48 10,000 75%
9H14H(H) ALIE il= 48 9,000 77%
9H15H(H) ALIR =) 48 10,000 75%
9H16H(XN) ALIE il= 48 5,000 87%
9H17H(K) AL =) 48 5,000 87%
9H18H(K) ALIE il= 48 5,000 87%
9H19H(:&) ALIR =) 48 7,000 82%
9H20H(%) ALIE il= 48 10,000 75%
9821H(H) ALIR =) 48 10,000 75%
9H22H(H) ALIE il= 48 9,000 77%
9H23H(N) AL =) 48 10,000 75%
9H24H(K) ALIE = 48 5,000 87%
9H25H(XK) AL =) 48 5,000 87%
9H26H(E) ALIE =3 48 7,000 82%
9H27H(X) AL =) 48 7,000 82%
9H28H(H) ALIE =3 48 7,000 82%
9829H(H) AL =) 48 7,000 82%
9H30H(XN) ALIE =3 48 5,000 87%
10H1H(K) AL =) 48 5,000 87%
10H2H(K) ALIE =3 48 5,000 87%
10H3H(ER) AL =) 48 7,000 82%
10H4H(L) ALIE =3 48 7,000 82%
10H5H(H) AL =) 48 7,000 82%
1086H(H) ALIE =3 48 7,000 82%
10H7H(X) AL =) 48 5,000 87%
10H8H(K) ALIE =3 48 5,000 87%
10H9H(RK) ALIR (= 48 5,000 87%
105108 (&) ALIE =3 48 7,000 82%
10H11H(X) ALIR =) 48 10,000 75%
10H12H(H) ALIE =3 48 9,000 77%
10H13H(AH) ALIR (= 48 10,000 75%
10H148(XN) ALIE =3 48 7,000 82%
10H15H(0K) ALIR (= 48 5,000 87%
10H16H(K) ALIE =3 48 5,000 87%
10H17H(%&) ALIR = 48 7,000 82%
10H18H(%L) ALIE =3 48 7,000 82%
10H19H(H) ALIR = 48 7,000 82%
108208 (H) ALIE =3 48 7,000 82%
10H21H(CN) ALIR =) 48 5,000 87%
10H22H(K) ALIR =3 48 5,000 87%
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10H23H(XK) ALIR =) 48 5,000 87%
10H24H(£&) ALIR e 48 7,000 82%
10H25H(%) ALIR =) 48 7,000 82%
8H1H(%E) e ALMR 49 9,000 78%

8H2H(L) =) ALIR 49 9,000 78%

8H3H(H) e ALMR 49 9,000 78%

8H4H(H) =) ALIR 49 9,000 78%

8H5H(KX) e ALMR 49 9,000 78%

8H6H(K) =) ALIR 49 9,000 78%

8H7H(K) e ALMR 49 9,000 78%

8H10H(H) =) ALIR 49 9,000 78%
8H11H(H) e ALMR 49 9,000 78%
8H12H(N) =) ALIR 49 9,000 78%
8H13H(K) NS, ALIR 49 9,000 78%
8H14H(K) =) ALIR 49 9,000 78%
8H15H(&) NS ALIR 49 9,000 78%
8H16H(L) =) ALIR 49 9,000 78%
8H17H(H) NS, ALIR 49 9,000 78%
8H18H(H) =) ALIR 49 8,000 81%
8H19H(N) NS ALIR 49 7,000 83%
8H20H(K) =) ALIR 49 7,000 83%
8H21H(K) =y ALIR 49 7,000 83%
8H22H (&) =) ALIR 49 8,000 81%
8A236 (1) fils ALI% 49 8,000 81%
8H24H(H) =) ALIR 49 8,000 81%
8H25H(H) NS, ALIR 49 8,000 81%
8H26H(X) =) ALIR 49 7,000 83%
88276 (K) s ALI% 49 7,000 83%
8H28H(K) =) ALIR 49 7,000 83%
8H29H (&) =) ALIR 49 8,000 81%
8H30H(L) =) ALIR 49 8,000 81%
8H31H(H) =) ALIR 49 8,000 81%
9H1H(H) =) ALIR 49 7,000 82%

9R2E () s ALI% 49 5,000 87%

9H3H(K) =) ALIR 49 5,000 87%

9H4H(K) =) ALIR 49 5,000 87%

9OHS5H(%E) =) ALIR 49 7,000 82%

9R6H (1) filie ALI% 49 7,000 82%

9”H7H(H) =) ALIR 49 7,000 82%

9H8H(H) =) ALIR 49 7,000 82%

9H9H(N) =) ALIR 49 5,000 87%

9H10H(K) =) ALIR 49 5,000 87%
9H11H(K) =) ALIR 49 5,000 87%
9OH12H(%&) =) ALIR 49 7,000 82%
9H13H(L) =) ALIR 49 10,000 75%
9H14H(H) =) ALIR 49 9,000 77%
9H15H(H) =) ALIR 49 10,000 75%
9H16H(N) =) ALIR 49 5,000 87%
9H17H(K) =) ALIR 49 5,000 87%
9H18H(XK) =) ALIR 49 5,000 87%
OH19H(&) =) ALIR 49 7,000 82%
9H20H(x) =) ALIR 49 10,000 75%
9H21H(H) e ALIR 49 10,000 75%
9H22H(H) =) ALIR 49 9,000 77%
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9H23H(XN) (= ALIR 49 10,000 75%
9H24H(K) NS, ALIR 49 5,000 87%
9H25H(K) (= ALIR 49 5,000 87%
9H26H(E) =y ALIR 49 7,000 82%
9H27H(L) W=y ALIR 49 7,000 82%
9H28H(H) NS, ALIR 49 7,000 82%
9H29H(H) W=y ALIR 49 7,000 82%
9H30H(XN) NS, ALIR 49 5,000 87%
10H1H(K) (= ALIR 49 5,000 87%
10H2H(K) =y ALIR 49 5,000 87%
10H3H(ER) W=y ALIR 49 7,000 82%
10H4H(L) NS, ALIR 49 7,000 82%
1085H(H) W= ALIR 49 7,000 82%
1086H(H) =3 ALIE 49 7,000 82%
1087H(X) (= ALIR 49 5,000 87%
10H8H(K) =y ALIE 49 5,000 87%
10H9H(RK) =y ALIR 49 5,000 87%
10H10H (&) =y ALIE 49 7,000 82%
10H11H(X) =y ALIR 49 10,000 75%
10H12H(H) = ALIE 49 9,000 77%
10H13H(AH) =y ALIR 49 10,000 75%
10H148(N) =y ALIE 49 7,000 82%
10H15H(K) (= ALIR 49 5,000 87%
10H16H(K) = ALIE 49 5,000 87%
10H17H(:&) =y ALIR 49 7,000 82%
10H18H(%) =y ALIE 49 7,000 82%
10H19H(H) = ALIR 49 7,000 82%
10H20H((A) =3 ALIR 49 7,000 82%
10H21H(CN) = ALIR 49 5,000 87%
10H22H(K) =3 ALIR 49 5,000 87%
10H23H(K) = ALIR 49 5,000 87%
10H24H(%&) =3 ALIR 49 7,000 82%
10H25H(%) = ALIR 49 7,000 82%
8H1H(E) ALIE =3 50 9,000 78%
8H2H(L) AL =) 50 9,000 78%
8H4H(H) ALIE =3 50 9,000 78%
8HS5H(X) AL =y 50 9,000 78%
8H6H(K) ALIE =3 50 9,000 78%
8H7H(RK) AL =) 50 9,000 78%
8H8H(E) ALIE =3 50 9,000 78%
8H9H(L) ALIR (= 50 9,000 78%
8H10H(H) ALIE =3 50 9,000 78%
8H11H(H) ALIR (= 50 9,000 78%
8H12H(XN) ALIE =3 50 9,000 78%
8H13H(K) ALIR (= 50 9,000 78%
8H18H(H) ALIE =3 50 8,000 81%
8H19H(N) ALIR (= 50 7,000 83%
8H20H(’K) ALIE =3 50 7,000 83%
8H21H(K) ALIR (= 50 7,000 83%
8H22H(&) ALIE =3 50 8,000 81%
8H23H(X) ALIR (= 50 8,000 81%
8H24H(H) ALIE =3 50 8,000 81%
8H25H(H) ALIR =) 50 8,000 81%
8H26H(XN) ALIR =3 50 7,000 83%
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8H27H(K) ALIR =) 50 7,000 83%
8H28H(XK) ALIR e 50 7,000 83%
8H29H (&) ALIR =) 50 8,000 81%
8H30H(X) ALIR e 50 8,000 81%
9H1H(H) ALIR =) 50 7,000 82%

9B2B () ALI% e 50 5,000 87%

9H3H(K) ALIR =) 50 5,000 87%

9H4H(K) AL e 50 5,000 87%

9H5H(%&) ALIR =) 50 7,000 82%

9H6H(%) ALIR e 50 7,000 82%

9H8H(H) ALIR =) 50 7,000 82%

9B9E () ALI% e 50 5,000 87%

9H10H(K) ALIR =) 50 5,000 87%
9H11H(XK) ALIR =) 50 5,000 87%
9H12H(&E) ALIR =) 50 7,000 82%
9H13H(%) ALIR = 50 10,000 75%
9H14H(H) ALIR =) 50 9,000 77%
9R16E () LR filie 50 5,000 87%
9H17H(K) ALIR =) 50 5,000 87%
9H18H(XK) ALIR =) 50 5,000 87%
9OH19H(&) ALIR =) 50 7,000 82%
9R208 (1) ALI% e 50 10,000 75%
9H21H(H) ALIR e 50 10,000 75%
0R226(H) LR e 50 9,000 77%
9H23H(X) ALIR =) 50 10,000 75%
9H24H(K) ALIR =) 50 5,000 87%
9H25H(K) ALIR =) 50 5,000 87%
0R26H (%) iLIE e 50 7,000 82%
9H28H(H) ALIR =) 50 7,000 82%
9H29H(H) ALIR = 50 7,000 82%
9H30H(X) ALIR =) 50 5,000 87%
10H1H(K) ALIR = 50 5,000 87%
10H2H(K) ALIR =) 50 5,000 87%
10A38(2) iLIE e 50 7,000 82%
10H4H(XL) ALIR =) 50 7,000 82%
10H5H(H) ALIR = 50 7,000 82%
10H6H(AH) ALIR =) 50 7,000 82%
10878 () LR e 50 5,000 87%
10H8H(K) ALIR =) 50 5,000 87%
10H9H(K) ALIR =) 50 5,000 87%
10H10H(&) ALIR =) 50 7,000 82%
10H11H(X) ALIR =) 50 10,000 75%
10H12H(H) ALIR =) 50 9,000 77%
10H13H(H) ALIR =) 50 10,000 75%
1051480 ALIR =) 50 7,000 82%
10H15H0K) ALIR =) 50 5,000 87%
10H16H(K) ALIR =) 50 5,000 87%
10H17H(&) ALIR =) 50 7,000 82%
10H18H(%) ALIR = 50 7,000 82%
10H19H(H) ALIR =) 50 7,000 82%
10H20H(H) ALIR = 50 7,000 82%
10H21H(N) ALIR =) 50 5,000 87%
10H22H(K) ALIR =) 50 5,000 87%
10H23H(K) ALIR =) 50 5,000 87%
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10H24H(%) ALIR e 50 7,000 82%
10H25H(%) ALIR = 50 7,000 82%
8H1H(E) ABR e 51 9,700 78%
8H4H(H) AN (=3 51 9,700 78%
8H18H(H) ABR e 51 9,700 78%
8H19H(XN) AN (=3 51 7,700 83%
8H20H(K) ABR e 51 7,700 83%
8H21H(K) AN (=3 51 7,700 83%
8H22H (&) ABR e 51 8,700 81%
8H23H(X) ABR (=3 51 8,700 81%
8H27H(K) ABR e 51 7,700 83%
8H28H(K) AN (=3 51 7,700 83%
9OH2H(X) ABR e 51 7,700 82%
9H3H(K) AN il= 51 7,700 82%
9H4H(RK) AN =) 51 7,700 82%
9HS5H(E) AN il= 51 8,700 80%
9H10H(K) AN =) 51 6,700 84%
9H16H(XN) AN il= 51 7,700 82%
9H17H(K) AN =) 51 7,700 82%
9H18H(RK) ABR e 51 7,700 82%
9H24H(K) AN =) 51 8,700 80%
9H25H(K) ABR e 51 7,700 82%
9H27H(X) AN =) 51 7,700 82%
9H30H(XN) AN il= 51 7,700 82%
10H1H(K) AN =) 51 6,700 84%
10H8H(K) AN = 51 6,700 84%
10H9H(RK) ABR =) 51 7,700 82%
10H108H(E) AN =3 51 8,700 80%
10812H(H) ABR =) 51 8,700 80%
10H15H(K) AN =3 51 7,700 82%
10H16H(K) ABR =) 51 7,700 82%
10H17H (%) AN =3 51 7,700 82%
10H21H(CN) ABR =) 51 6,700 84%
10H22H(K) AN =3 51 6,700 84%
10H23H(K) ABR =) 51 6,700 84%
10H25H(%) AN =3 51 8,700 80%
8H1H(E) =y ABR 52 9,700 78%
8H2H(L) =3 AP 52 9,700 78%
8H3H(H) = ABR 52 9,700 78%
8HS5H(X) W=y AP 52 9,700 78%
8H15H(&) W=y N 52 9,700 78%
8H18H(H) W=y AP 52 8,700 81%
8H19H(X) W=y N 52 8,700 81%
8H20H(K) W=y AP 52 8,700 81%
8H21H(K) W=y N 52 8,700 81%
8H22H(&) W=y AP 52 8,700 81%
8H24H(H) W=y N 52 8,700 81%
8H25H(H) W=y AP 52 9,700 78%
8H26H(X) = N 52 9,700 78%
8H27H(K) =y KB 52 6,700 85%
8H28H(K) = N 52 6,700 85%
9H2H(N) (=} KB 52 7,700 82%
9H3H(K) =y KB 52 7,700 82%
9H4H(K) =y AP 52 7,700 82%
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9H8H(AH) W=y AP 52 8,700 80%
9OH9H(X) =y AN 52 8,700 80%
9H10H(K) W=y AP 52 8,700 80%
9H11H(K) =y AN 52 8,700 80%
9H14H(H) W=y AP 52 9,700 77%
9H16H(XN) =y N 52 7,700 82%
9H17H(K) W=y AP 52 7,700 82%
9H18H(K) =y AN 52 7,700 82%
9H22H(H) W=y AP 52 8,700 80%
9H23H(XN) =y AN 52 8,700 80%
9H24H(K) W=y AP 52 8,700 80%
9H25H(K) =y N 52 6,700 84%
9H29H(H) W= AP 52 6,700 84%
9H30H(AN) =3 AN 52 6,700 84%
10H1H(K) =y AP 52 6,700 84%
10H78HX) =y AN 52 7,700 82%
10H8H(K) =y AP 52 7,700 82%
10H9H(K) =y KB 52 8,700 80%
10H12H(H) =y AP 52 9,700 77%
10H14H(N) = AN 52 6,700 84%
10H15H(K) =y AP 52 6,700 84%
10H16H(K) =y KB 52 6,700 84%
10H20H(AH) =y AP 52 6,700 84%
10H21H(N) = AN 52 6,700 84%
10H22H(K) =y AP 52 6,700 84%
8H6H(K) AN = 53 9,700 78%
8H19H(N) ABR =) 53 8,700 81%
8H21H(K) AN =3 53 7,700 83%
8H23H(X) ABR =) 53 8,700 81%
8H26H(XN) AN =3 53 7,700 83%
8H27H(K) ABR =) 53 7,700 83%
9H1H(A) AN =3 53 7,700 82%
9H2H(X) ABR =) 53 6,700 84%
9H3H(K) AN =3 53 7,700 82%
9H4H(K) ABR =) 53 6,700 84%
9HS5H(E) AN =3 53 8,700 80%
9H8H(A) ABR =y 53 8,700 80%
9H10H(K) AN =3 53 7,700 82%
9H17H(K) ABR =) 53 7,700 82%
9H18H(K) AN =3 53 7,700 82%
9H24H(K) ABR (= 53 6,700 84%
9H25H(K) AN =3 53 6,700 84%
9H27H(X) ABR (= 53 7,700 82%
9H30H(X) AP (=} 53 7,700 82%
10H2H(K) ABR (= 53 6,700 84%
10H8H(K) AN =3 53 6,700 84%
10H9H(RK) ABR (= 53 7,700 82%
105108 (&) AN =3 53 8,700 80%
10H16H(XK) ABR (= 53 6,700 84%
10H17H(%&) AN =3 53 6,700 84%
10H21H(AN) ABR (= 53 7,700 82%
10H22H(K) AN =3 53 7,700 82%
10H23H(K) AN e 53 6,700 84%
10H25H(%) ABR =3 53 8,700 80%




aE&e

(X5

EE

IBEX4Hi

EEER F5|x

8H3H(H) W=y AP 54 9,700 78%
8H4H(H) =y AN 54 9,700 78%
8H13H(K) W=y AP 54 9,700 78%
8H19H(N) =y AN 54 8,700 81%
8H20H(K) W=y AP 54 8,700 81%
8H21H(K) =y N 54 8,700 81%
8H22H(&) W=y AP 54 8,700 81%
8H23H(X) =y AN 54 9,700 78%
8H25H(H) W=y AP 54 8,700 81%
8H26H(N) =y AN 54 8,700 81%
8H27H(K) W=y AP 54 8,700 81%
8H28H(K) =y N 54 6,700 85%
8H29H (&) W= AP 54 7,700 83%
9H2H(N) (U= N 54 7,700 82%
9H3H(K) =y AP 54 7,700 82%
9H4H(RK) =y AN 54 7,700 82%
9H8H(A) =y AP 54 8,700 80%
9OH9H(X) =y KB 54 8,700 80%
9H10H(K) =y AP 54 7,700 82%
9H11H(K) = AN 54 7,700 82%
9H16H(N) =y AP 54 7,700 82%
9H17H(K) =y KB 54 6,700 84%
9H24H(K) =y AP 54 6,700 84%
9H25H(K) = AN 54 6,700 84%
9H29H(H) =y AP 54 6,700 84%
9H30H(N) (U= N 54 6,700 84%
10H1H(K) = ABR 54 6,700 84%
10H2H(K) =3 AP 54 6,700 84%
10H6H(H) = ABR 54 7,700 82%
10H7H(X) =3 AP 54 7,700 82%
10H8H(K) = ABR 54 7,700 82%
10H9H(RK) =3 AP 54 8,700 80%
10H14H(CN) = ABR 54 6,700 84%
10H15H(K) =3 AP 54 6,700 84%
10H16H(K) = ABR 54 7,700 82%
10H17H (%) =3 AP 54 7,700 82%
10H21H(CN) =y ABR 54 6,700 84%
10H22H(K) =3 AP 54 6,700 84%
10H23H(K) = ABR 54 6,700 84%
10H25H(%) W=y AP 54 7,700 82%
8H3H(H) ABR il 55 9,540 70%
8H4H(H) AN &l 55 9,540 70%
8H5H(KX) ABR il 55 9,540 70%
8H6H(K) AN &l 55 9,540 70%
8H7H(XK) ABR il 55 9,540 70%
8H8H(E) AN &l 55 9,540 70%
8H14H(K) ABR il 55 9,540 70%
8H15H(E) AN &l 55 9,540 70%
8H17H(H) ABR fE 55 9,540 70%
8H18H(H) AN &l 55 6,540 79%
8H19H(X) ABR fE 55 6,540 79%
8H20H(K) AN &l 55 6,540 79%
8H21H(K) AN fe ] 55 6,540 79%
8H22H(&) ABR &l 55 6,540 79%
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8H23H(X) ABR @] 55 6,540 79%
8H24H(H) AN =lid 55 6,540 79%
8H25H(H) ABR @] 55 6,540 79%
8H26H(N) AN =lid 55 6,540 79%
8H27H(K) ABR @] 55 6,040 81%
8H28H(K) AN e[ 55 6,040 81%
9H1H(A) ABR @] 55 6,040 80%
9OH2B(X) AN fe ] 55 6,040 80%
9H3H(K) ABR @] 55 6,040 80%
9H4H(RK) AN =lid 55 6,040 80%
9HS5H(E) ABR @] 55 6,040 80%
9OH6H(TL) ABR =lid 55 6,040 80%
9H7H(H) ABR @] 55 5,540 82%
9H8H(AH) AN &l 55 6,040 80%
9H9H(X) AN @] 55 6,040 80%
9H10H(K) AN &l 55 6,040 80%
9H11H(K) AN @] 55 6,040 80%
9OH12H(%&) AN &l 55 6,040 80%
9H13H(%) AN @] 55 6,540 78%
9H14H(H) AN &l 55 6,040 80%
9H15H(H) AN @] 55 6,540 78%
9H16H(N) AN &l 55 6,040 80%
9H17H(K) AN @] 55 6,040 80%
9H18H(K) AN &l 55 6,040 80%
9OH19H (&) AN @] 55 6,040 80%
9H20H(%) AN &l 55 6,540 78%
9821H(H) ABR ] 55 6,540 78%
9H22H(H) AN &l 55 6,040 80%
9H24H(K) ABR ] 55 6,040 80%
9H25H(K) AN &[] 55 5,540 82%
9H26H(:&) ABR ] 55 6,040 80%
9H27H(X) AN &l 55 6,540 78%
9H28H(H) ABR ] 55 6,040 80%
9H29H(H) AN &[] 55 5,540 82%
9H30H(N) ABR fE 55 5,540 82%
10H1H(K) AN &l 55 6,040 80%
10H2H(K) ABR ] 55 5,540 82%
10H3H(GE) AN &l 55 6,040 80%
10H4H(L) ABR ] 55 6,540 78%
1085H(H) AN &l 55 6,040 80%
10H6H(H) ABR il 55 6,040 80%
10H7H(X) AN &l 55 6,040 80%
10H8H(K) ABR il 55 6,040 80%
10H9H(RK) AN @] 55 5,540 82%
10H10H(%&) ABR il 55 6,040 80%
10A11H(%) AN &l 55 6,540 78%
10H12H(H) ABR il 55 6,040 80%
10H13H((H) AN &l 55 6,540 78%
10H14H(N) ABR fE 55 6,040 80%
10H15H(K) AN &[] 55 5,540 82%
10H16H(XK) ABR fE 55 6,040 80%
10H17H(%&) AN &l 55 6,040 80%
10H18H(X) ABR fe ] 55 6,540 78%
10H19H(H) ABR @] 55 5,540 82%
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10H20H((H) ABR @] 55 5,540 82%
10H21H(N) AN =lid 55 6,040 80%
10H22H(K) ABR @] 55 6,040 80%
10H23H(K) AN =lid 55 6,040 80%
10H24H(%&) ABR @] 55 6,040 80%
10H25H(%) AN e[ 55 6,540 78%
8H3H(H) &l AP 56 9,540 70%
8H4H(H) &l AN 56 9,540 70%
8H5H(N) f& ] AP 56 9,540 70%
8H6H(K) &l AN 56 9,540 70%
8H7H(K) f& ] AP 56 9,540 70%
8H9H (L) &l N 56 9,540 70%
8H10H(H) &l AP 56 9,540 70%
8H12H(XN) &l AN 56 9,540 70%
8H13H(K) & ] AP 56 9,540 70%
8H14H(K) &l AN 56 9,540 70%
8H18H(H) &l AP 56 6,540 79%
8H19H(XN) &l KB 56 6,540 79%
8H20H(K) & ] AP 56 6,540 79%
8H21H(K) &l AN 56 6,540 79%
8H22H (&) &l AP 56 6,540 79%
8H23H(X) &l KB 56 6,540 79%
8H24H(H) &l AP 56 6,540 79%
8H25H(H) &l AN 56 6,540 79%
8H26H(N) & ] AP 56 6,540 79%
8H27H(K) &l KB 56 6,540 79%
8H28H(K) & ABR 56 6,540 79%
8H29H (&) &l AP 56 6,540 79%
8H30H(X) &l ABR 56 6,540 79%
9OH2H(X) &l AP 56 6,040 80%
9H3H(K) & ABR 56 6,040 80%
9H4H(RK) &l AP 56 6,040 80%
9OHS5H(E) &l ABR 56 6,040 80%
9H6H(L) &l AP 56 6,040 80%
987H(H) &l ABR 56 6,040 80%
9H8H(AH) &l AP 56 6,040 80%
9H9H(X) & ABR 56 6,040 80%
9H10H(K) &l AP 56 6,040 80%
9H11H(K) & ABR 56 6,040 80%
9OH12H(%&) &l AP 56 6,040 80%
9H14H(H) &l ABR 56 6,540 78%
9H17H(K) &l AP 56 6,040 80%
9H18H(K) &l N 56 6,040 80%
9H19H(:&) &l AP 56 6,040 80%
9H20H(X) &l ABR 56 6,540 78%
9H22H(H) &l AP 56 6,040 80%
9H24H(K) &l N 56 6,040 80%
9H25H(K) &l AP 56 6,040 80%
9H26H(&) &l ABR 56 6,040 80%
9H27H(X) &l KB 56 6,040 80%
9H28H(H) &l ABR 56 6,040 80%
9H29H(H) &l KB 56 6,040 80%
9H30H(N) &l KB 56 5,540 82%
10H1H(K) &l AP 56 6,040 80%
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10H2H(K) &l AP 56 6,040 80%
10H3H(E) &l AN 56 6,040 80%
1085H((H) &l AP 56 6,040 80%
1086H(H) &l AN 56 6,040 80%
10H7H(X) &l AP 56 6,040 80%
10H8H(K) &l N 56 6,040 80%
10H9H(XK) &l AP 56 5,540 82%
10H10H(%&) &l AN 56 6,040 80%
10H11H(X) &l AP 56 6,540 78%
10H12H(H) &l AN 56 5,540 82%
10H13H(H) &l AP 56 6,540 78%
10H14H(N) &l N 56 6,040 80%
10H15H(K) e ] AP 56 5,540 82%
10H16H(XK) &l AN 56 5,540 82%
10H17H(&) &l AP 56 6,040 80%
10H18H(X) &l AN 56 6,540 78%
10H19H(H) &l AP 56 6,040 80%
10H20H(H) &l KB 56 5,540 82%
10H21H(CN) &l AP 56 5,540 82%
10H22H(K) &l AN 56 5,540 82%
10H23H(K) &l AP 56 6,040 80%
10H24H(%&) &l KB 56 5,540 82%
10H25H(%) &l AP 56 6,040 80%
8H3H(H) 2EE e ] 59 7,940 79%
8H4H(A) ZaE @] 59 7,940 79%
8H5H(XN) 2EE e ] 59 7,940 79%
8H6H(K) ZaE ] 59 7,940 79%
8H7H(K) 2EE &l 59 8,440 77%
8H14H(K) ZaE ] 59 9,440 75%
8H15H(E) 2EE &l 59 9,440 75%
8H16H (LX) ZaE ] 59 9,440 75%
8H17H(H) 2EE &l 59 9,440 75%
8H18H(H) ZaE ] 59 7,440 80%
8H19H(N) 2EE &l 59 7,440 80%
8H20H(K) ZaE ] 59 7,440 80%
8H21H(K) 2EE &l 59 7,440 80%
8H22H (&) ZaE ] 59 7,440 80%
8H23H(L) 2EE &l 59 7,440 80%
8H24H(H) ZaE ] 59 7,440 80%
8H25H(H) “aE &l 59 7,440 80%
8H26H(N) ZaE ] 59 7,440 80%
8H27H(K) “aE &l 59 6,440 83%
8H28H(K) ZaE ] 59 7,440 80%
8H29H (&) “aE &l 59 7,440 80%
8H30H(X) ZaE e ] 59 7,440 80%
8H31H(H) “aE &l 59 7,440 80%
9B1H(AH) ZaE e ] 59 6,440 82%
9H2H(X) “aE @] 59 6,440 82%
9H3H(K) ZaE e ] 59 6,440 82%
9H4H(K) ZaE &l 59 6,440 82%
9OHS5H(E) ZaE e ] 59 6,440 82%
9H7H(H) ZaE &[] 59 6,440 82%
9H8H(A) ZhE &l 59 6,940 80%
9H9H(X) ZaE @] 59 6,440 82%
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9H10H(K) ZaE @] 59 6,440 82%
9H11H(XK) ZhE &l 59 6,440 82%
9OH12H(&) ZaE @] 59 6,940 80%
9H14H(H) ZhE &l 59 6,440 82%
9H16H(X) ZaE @] 59 6,940 80%
9H17H(K) ZhE &l 59 6,440 82%
9H18H(K) ZaE @] 59 6,440 82%
9H19H(E) ZhE &l 59 6,940 80%
9H21H(H) ZaE @] 59 6,440 82%
9H22H(H) ZhE &l 59 6,440 82%
9H23H(X) ZaE @] 59 6,440 82%
9H24H(K) ZhE &l 59 6,440 82%
9H25H(K) ZaE @] 59 6,440 82%
9OH26H (&) 2EE &l 59 6,940 80%
9H27H(L) ZaE @] 59 6,440 82%
9H28H(H) 2EE &l 59 6,440 82%
9H29H(H) ZaE @] 59 6,440 82%
9H30H(N) 2EE &l 59 6,440 82%
10H1H(K) ZaE @] 59 6,940 80%
10H2H(K) 2EE &l 59 6,440 82%
10H3H(ER) ZaE @] 59 6,940 80%
10H4H(L) 2EE &l 59 6,440 82%
10A5H((H) ZaE @] 59 6,440 82%
1086H(H) 2EE &l 59 6,440 82%
1087H(X) ZaE @] 59 6,440 82%
10H8H(K) 2EE &l 59 6,440 82%
10H9H(RK) ZaE ] 59 6,440 82%
10H11H(X) 2EE &l 59 6,940 80%
10812H(H) ZaE ] 59 6,440 82%
10H14H(N) 2EE &[] 59 6,440 82%
10H15H(K) ZaE ] 59 6,940 80%
10H16H(K) 2EE ] 59 6,440 82%
10H17H(:&) ZaE ] 59 6,440 82%
10H18H(%) 2EE &[] 59 6,440 82%
10H19H(H) ZaE ] 59 6,440 82%
10H20H((A) 2EE ] 59 6,440 82%
10H21H(CN) ZaE ] 59 6,440 82%
10H22H(K) 2EE &l 59 6,440 82%
10H23H(K) ZaE ] 59 6,440 82%
10H24H(%&) “aE @] 59 6,940 80%
10H25H(%) ZaE ] 59 6,940 80%
8H1H(%&) &l ZaE 60 7,940 79%
8H2H(L) &l ZhE 60 7,940 79%
8H4H(H) &l ZaE 60 7,940 79%
8H5H(KX) &l 2R 60 7,940 79%
8H6H(K) &l ZaE 60 7,940 79%
8H7H(K) &l ZhE 60 7,940 79%
8H8H(E) &l “aE 60 9,440 75%
8H9H(L) &l ZhE 60 9,440 75%
8H10H(H) &l ZoaE 60 9,440 75%
8H11H(H) &l ZhE 60 9,440 75%
8H12H(XN) &l ZoaE 60 9,440 75%
8H13H(K) &l ZhE 60 9,440 75%
8H19H(XN) &l ZaE 60 7,440 80%
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8H20H(K) &l ZHaE 60 7,440 80%
8H21H(K) &l ZhE 60 7,440 80%
8H22H (&) &l ZHaE 60 7,440 80%
8H23H(L) &l ZhE 60 7,440 80%
8H25H(H) &l ZHaE 60 7,440 80%
8H26H(XN) &l ZhE 60 7,440 80%
8H27H(K) &l ZHaE 60 7,440 80%
8H28H(K) &l ZhE 60 7,440 80%
8H29H (&) &l ZHaE 60 7,440 80%
8H30H (L) &l ZhE 60 7,440 80%
9H2H(KX) &l ZHaE 60 6,440 82%
9OH3H(K) &l ZhE 60 6,440 82%
9H4H(K) &l ZHaE 60 6,440 82%
9HS5H(E) &l BEE 60 6,440 82%
9H6H(L) &l ZEaE 60 6,440 82%
9H7H(H) &l BEE 60 6,440 82%
9H8H(A) &l ZEaE 60 6,940 80%
9OH9H(X) &l “EE 60 6,440 82%
9H10H(K) &l ZEE 60 6,440 82%
9H11H(K) &l BEE 60 6,440 82%
9H12H(:&) &l ZEaE 60 6,940 80%
9H14H((H) &l “EE 60 6,940 80%
9H16H(X) &l ZEE 60 6,440 82%
9H17H(K) &l BEE 60 6,440 82%
9H18H(K) &l ZEaE 60 6,440 82%
9OH19H(&) &l “EE 60 6,940 80%
9H20H(X) &l ZHaE 60 6,940 80%
9H21H(H) &l Bz 60 6,440 82%
9H22H(H) &l ZHaE 60 6,940 80%
9H23H(XN) &l “EE 60 6,940 80%
9H24H(K) &l ZHaE 60 6,440 82%
9H25H(K) &l Bz 60 6,440 82%
9H26H(:&) &l ZHaE 60 6,440 82%
9H27H(X) &l “EE 60 6,440 82%
9H29H(H) &l ZHaE 60 6,440 82%
9H30H(XN) &l Bz 60 6,440 82%
10H1H(K) &l ZaE 60 6,440 82%
10H2H(K) &l “EE 60 6,440 82%
10H3H(ER) &l ZHaE 60 6,440 82%
1084H(%) &l ZaE 60 6,440 82%
10H6H(H) &l ZhE 60 6,440 82%
10H7H(X) &l ZaE 60 6,440 82%
10H8H(K) &l ZhE 60 6,440 82%
10H9H(RK) &l ZaE 60 6,440 82%
10H10H(%&) &l 2R 60 6,440 82%
10A11H(%) &l ZaE 60 6,440 82%
10H12H(H) &l ZhE 60 6,940 80%
10H14H(N) &l “aE 60 6,440 82%
10H15H(K) &l ZhE 60 6,940 80%
10H16H(K) &l ZoaE 60 6,440 82%
10H17H(%&) &l ZhE 60 6,440 82%
10H18H(%L) &l ZoaE 60 6,440 82%
10H19H(H) &l ZhE 60 6,440 82%
10H20H(H) &l ZaE 60 6,440 82%




aE&e

(X5

EE

IBEX4Hi

EEER F5|x

10H21H(N) &l ZHaE 60 6,440 82%
10H22H(K) &l ZhE 60 6,440 82%
10H23H(XK) &l ZHaE 60 6,440 82%
10H24H(%&) &l ZhE 60 6,440 82%
10H25H(%) &l ZHaE 60 6,440 82%
8H1H(E) ZhE PAV) 61 10,500 71%
8H3H(H) ZaE A 61 9,500 73%
8H4H(H) ZhE PAV) 61 10,500 71%
8HS5H(X) ZaE A5 61 10,500 71%
8H6H(K) ZhE PAV) 61 9,000 75%
8H24H(H) ZaE A 61 9,500 73%
8H27H(K) ZhE PAV) 61 8,500 76%
8H28H(K) ZaE PA) 61 10,500 71%
8H29H (&) ZhE PAV) 61 9,500 73%
8H31H(H) ZaE PA) 61 9,000 75%
9H1H((A) ZhE PA) 61 8,500 75%
9H2H(X) ZaE PA) 61 9,500 72%
9H3H(K) ZhE PAV) 61 9,500 72%
9H4H(RK) ZaE PA) 61 8,500 75%
9OH5H(:E) ZhE PAV) 61 9,500 72%
9H6H(L) ZaE X5 61 9,500 72%
9H7H(H) ZhE PAV) 61 9,500 72%
9H8H(A) ZaE PA) 61 8,500 75%
9H9H(X) ZhE PAV) 61 9,000 73%
9H10H(K) ZaE PA) 61 7,500 78%
9H11H(XK) 2EE PA) 61 8,500 75%
9H12H(:&) ZaE PAV) 61 10,500 69%
9H14H(H) ZhE PA) 61 9,500 72%
9H15H(H) ZaE PAV) 61 9,000 73%
9H16H(X) ZhE PA) 61 9,000 73%
9H17H(K) ZaE PAV) 61 8,500 75%
9H18H(XK) 2EE PA) 61 8,500 75%
9821H(H) ZaE PAVJ) 61 9,500 72%
9H22H(H) ZhE PA) 61 7,500 78%
9H23H(N) ZaE PAV) 61 9,500 72%
9H25H(XK) 2EE PA) 61 7,000 79%
9H26H (&) ZaE PAV) 61 9,000 73%
9H27H(%L) ZhE PA) 61 9,000 73%
9H28H(H) ZaE PAV) 61 7,500 78%
9H29H(H) “aE PA) 61 8,500 75%
9H30H(N) ZaE PAV) 61 7,500 78%
10H1H(K) “aE DAV 61 7,000 79%
10H2H(RK) ZaE PAV) 61 8,500 75%
10H3H(GE) “aE PA) 61 9,500 72%
10H4H(L) ZaE PAV) 61 8,500 75%
1085H(H) “aE PA) 61 7,500 78%
10H6H(H) ZaE PAV) 61 8,500 75%
10H7H(X) “aE PA) 61 7,000 79%
10H8H(K) ZaE PAV) 61 7,000 79%
10H9H(RK) ZaE DAV 61 7,000 79%
108108 (&) ZaE PAV) 61 8,500 75%
10H12H(H) ZaE PA) 61 9,500 72%
10H13H(AH) ZhE PAV) 61 8,500 75%
10H148(XN) ZaE A 61 7,500 78%
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10H15H(K) ZaE A 61 7,500 78%
10H16H(XK) ZhE PAV) 61 8,500 75%
10H17H(%&) ZaE A5 61 10,500 69%
10H18H(%) ZhE PAV) 61 10,500 69%
10H20H(H) ZaE A 61 7,500 78%
10H21H(N) ZhE PAV) 61 9,000 73%
10H22H(K) ZaE A 61 8,500 75%
10H23H(K) ZhE PAV) 61 9,000 73%
10H24H(%&) ZaE A5 61 9,500 72%
8H10H(H) PAV) ZhE 62 10,500 71%
8H11H((H) ) ZHaE 62 10,500 71%
8H21H(K) PAV) ZhE 62 9,000 75%
8H25H(H) A7 ZHaE 62 9,500 73%
8H26H(XN) PAV) BEE 62 8,500 76%
8H28H(K) PA) ZEaE 62 8,500 76%
8H30H (L) PAV) BEE 62 9,500 73%
8H31H(H) PAV) ZEaE 62 9,500 73%
9H1H((A) PAV) ZhE 62 9,000 73%
9H2H(X) PA) ZEE 62 9,000 73%
9H3H(K) PAV) BEE 62 8,500 75%
9H4H(RK) PAV) ZEaE 62 6,500 81%
9HS5H(E) PAV) “EE 62 8,500 75%
9H6H(L) PAV) ZEE 62 8,500 75%
9H7H(H) PAV) BEE 62 8,500 75%
9H8H(A) PA) ZEaE 62 8,500 75%
9H9H(X) PAV) ZhE 62 7,000 79%
9H10H(K) PAV) ZHaE 62 8,500 75%
9H11H(XK) PAV) Bz 62 8,500 75%
9H12H(:&) PAV) ZHaE 62 9,500 72%
9H17H(K) PAV) “EE 62 8,500 75%
9H18H(XK) PAV) ZHaE 62 8,500 75%
9OH19H(:E) PAV) Bz 62 8,500 75%
9821H(H) PAV) ZHaE 62 8,500 75%
9H22H(H) PAV) “EE 62 8,500 75%
9H24H(K) PAV) ZHaE 62 8,500 75%
9H25H(XK) PAV) Bz 62 7,500 78%
9H26H (&) PAV) ZaE 62 8,500 75%
9H27H(%L) PAV) “EE 62 8,500 75%
9H28H(H) PAV) ZHaE 62 7,500 78%
9H29H(H) PAV) ZaE 62 8,500 75%
9H30H(N) PAV) ZhE 62 7,500 78%
10H1H(K) PAV) ZaE 62 6,000 82%
10H2H(K) PAV) ZhE 62 9,500 72%
1084H(%) PAV) ZaE 62 6,500 81%
10HA5H(H) PAV) 2R 62 7,000 79%
1086H(H) PAV) ZaE 62 7,000 79%
10H7H(XN) PAV) ZhE 62 6,000 82%
10H8H(K) PAV) “aE 62 6,000 82%
10H9H(RK) PAV) ZhE 62 7,000 79%
10H10H(%&) PAV) ZoaE 62 7,000 79%
10H11H(X) PAV) ZhE 62 8,500 75%
10H12H(H) PAV) ZoaE 62 7,500 78%
10H13H(AH) PAV) ZhE 62 9,500 72%
10H14H(N) %) ZaE 62 6,000 82%
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10H15H(K) ) ZHaE 62 7,000 79%
10H16H(XK) PAV) ZhE 62 7,500 78%
10H17H(%&) ) ZHaE 62 7,000 79%
10H19H(H) PAV) ZhE 62 7,500 78%
10H20H(H) ) ZHaE 62 7,500 78%
10H21H(N) PAV) ZhE 62 6,500 81%
10H22H(K) %) ZHaE 62 7,000 79%
10H23H(K) PV ZhE 62 6,500 81%
10H24H(%&) ) ZHaE 62 7,500 78%
10H25H(%) PAV) g 2Ya] 62 8,500 75%
8H17H(H) ZaE DAV 65 10,500 71%
8H18H(H) ZhE PAV) 65 10,500 71%
8H19H(XN) ZaE PA) 65 8,500 76%
8H20H(K) ZhE PA) 65 8,500 76%
8H23H(X) ZaE X5 65 8,500 76%
8H24H(H) ZhE PAV) 65 9,500 73%
8H25H(H) ZaE X5 65 8,500 76%
8H26H(N) ZhE PA) 65 8,500 76%
8H27H(K) ZaE PA) 65 8,500 76%
8H29H (&) ZhE PA) 65 8,500 76%
8H30H(X) ZaE X5 65 8,500 76%
8H31H(H) ZhE PA) 65 8,500 76%
9B1H(A) ZaE X5 65 9,000 73%
9OH2B(X) ZhE PA) 65 6,500 81%
9H3H(K) ZaE PA) 65 7,000 79%
9H4H(K) 2EE PA) 65 6,500 81%
9OHS5H(E) ZaE PAVJ) 65 8,500 75%
9H6H(L) ZhE PAV) 65 7,500 78%
987H(H) ZaE PAVJ) 65 8,500 75%
9H8H(AH) ZhE PAV) 65 8,500 75%
9H9H(X) ZaE PAV) 65 8,500 75%
9H10H(K) ZhE PAV) 65 8,500 75%
9H11H(XK) ZaE PAV) 65 8,500 75%
9OH12H(:E) ZhE PAV) 65 8,500 75%
9H13H(%) ZaE PAVJ) 65 8,500 75%
9H14H(H) ZhE PAV) 65 9,500 72%
9H16H(N) ZaE PAV) 65 9,500 72%
9H17H(K) ZhE PAV) 65 8,500 75%
9H18H(XK) ZaE PAV) 65 8,500 75%
9H19H(:&) ZaE PA) 65 9,000 73%
9H20H(x) ZaE PAV) 65 8,500 75%
9H21H((H) “aE PA) 65 8,500 75%
9H22H(H) ZaE PAV) 65 7,500 78%
9H23H(X) “aE PA) 65 9,500 72%
9H24H(K) ZaE PAV) 65 7,000 79%
9H25H(K) “aE DAV 65 6,500 81%
9H26H(:&) ZaE PAV) 65 7,500 78%
9H27H(L) ZaE PA) 65 7,000 79%
9H28H(H) ZaE PAV) 65 9,500 72%
9H30H(XN) ZaE PA) 65 6,500 81%
10H1H(K) ZaE PAV) 65 7,000 79%
10H2H(K) ZaE DAV 65 7,000 79%
10H3H(E) ZhE PAa) 65 7,000 79%
10H4H(XL) ZaE DAV 65 6,500 81%
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1085H(H) ZaE DAV 65 8,500 75%
10H6H(AH) ZhE PAV) 65 7,000 79%
10H7H(X) ZaE A5 65 6,000 82%
10H8H(K) ZhE PAV) 65 7,000 79%
10H9H(K) ZaE A 65 6,000 82%
10H10H(%&) ZhE PAV) 65 7,000 79%
10H11H(X) ZaE DAV 65 6,500 81%
10H12H(H) ZhE PAV) 65 8,500 75%
10H13H((H) ZaE DAV 65 8,000 76%
10H14H(N) ZhE PAV) 65 7,000 79%
10H15H(K) ZaE A 65 6,000 82%
10H16H(K) ZhE PAV) 65 7,500 78%
10H17H(%&) ZaE DAV 65 7,000 79%
10H18H(*) ZhE PAV) 65 7,000 79%
10H19H(H) ZaE X5 65 7,000 79%
10H20H(H) ZhE PAV) 65 7,000 79%
10H21H(CN) ZaE PA) 65 7,000 79%
10H22H(K) ZhE PA) 65 6,000 82%
10H23H(K) ZaE PA) 65 6,000 82%
10H24H(%&) ZhE PAV) 65 7,000 79%
10H25H(%) ZaE X5 65 6,500 81%
8H22H(E) PAV) “EE 66 10,500 71%
8H23H(X) PAV) ZEE 66 9,000 75%
8H26H(N) PAV) ZhE 66 9,000 75%
9H2H(X) PA) ZEaE 66 9,000 73%
9H3H(K) PAV) ZhE 66 9,000 73%
9OHS5H(E) PAV) ZHaE 66 6,500 81%
9H6H(L) PAV) ZhE 66 8,500 75%
987H(H) PAV) ZHaE 66 9,500 72%
9H9H(X) PAV) ZhE 66 8,500 75%
9H10H(K) PAV) ZHaE 66 8,500 75%
9H11H(XK) PAV) Bz 66 8,500 75%
9H12H(:&) PAV) ZHaE 66 9,500 72%
9H13H(%) PAV) ZhE 66 8,500 75%
9H16H(N) PAV) ZHaE 66 8,500 75%
9H17H(K) PAV) ZhE 66 6,500 81%
9H18H(XK) PAV) ZaE 66 8,500 75%
9H19H(:E) PAV) ZhE 66 8,500 75%
9H20H(X) PAV) ZHaE 66 9,500 72%
9H21H(H) PAV) ZaE 66 8,500 75%
9H24H(K) PAV) ZhE 66 9,000 73%
9H25H(K) PAV) ZaE 66 7,500 78%
9H26H(:&) PAV) ZhE 66 7,500 78%
9H28H(H) PAV) ZaE 66 9,500 72%
9H29H(H) PAV) 2R 66 6,500 81%
9H30H(XN) PAV) ZaE 66 7,500 78%
10H1H(K) PAV) ZhE 66 8,500 75%
10H2H(K) PAV) “aE 66 7,000 79%
10H3H(ER) PAV) ZhE 66 9,500 72%
10H4H(L) PAV) ZoaE 66 7,000 79%
10HA5H(H) PAV) ZhE 66 9,000 73%
1086H(H) PAV) ZoaE 66 7,000 79%
10B7H(X) PAV) ZhE 66 7,500 78%
10H8H(K) %) ZaE 66 7,000 79%
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10H9H(K) ) ZHaE 66 7,000 79%
10H10H(%&) PAV) g 2Ya] 66 8,500 75%
10H11H(X) ) ZHaE 66 6,500 81%
10H14H(N) PAV) ZhE 66 7,000 79%
10H15H(K) ) ZHaE 66 7,000 79%
10H17H(%&) PAV) BEE 66 7,500 78%
10H18H(%) %) ZHaE 66 8,000 76%
10H21H(N) PV ZhE 66 7,500 78%
10H23H(K) ) ZHaE 66 7,000 79%
10H24H(%&) PAV) g 2Ya] 66 8,500 75%
8H4H(H) ABR it 71 9,000 79%
8H5H(XN) AN ot 71 9,500 77%
8H11H(H) ABR it 71 9,000 79%
8H14H(K) AN it 71 9,500 77%
8H15H (&) AN ok 71 8,500 80%
8H16H (LX) AN it 71 9,000 79%
8H17H(H) AN ok 71 9,000 79%
8H18H(H) AN it 71 8,500 80%
8H20H(K) AN ok 71 9,000 79%
8H21H(K) AN it 71 9,500 77%
8H23H(X) AN ok 71 9,500 77%
8H24H(H) AN it 71 9,000 79%
8H25H(H) AN ok 71 9,000 79%
8H26H(N) AN it 71 7,500 82%
8H27H(K) AN ok 71 6,500 85%
8H28H(AK) ABR ik 71 8,000 81%
8H29H (&) ABR ik 71 7,500 82%
8H31H(H) AN it 71 7,500 82%
9B1H(A) ABR ik 71 7,500 81%
9OH2H(X) AN it 71 7,500 81%
9H3H(K) ABR ik 71 7,500 81%
9H4H(RK) AN it 71 7,500 81%
9OHS5H(E) ABR ik 71 9,000 78%
9H6H(L) AN it 71 8,500 79%
987H(H) ABR ik 71 7,500 81%
9H8H(AH) AN it 71 7,500 81%
9H9H(X) ABR ik 71 5,500 86%
9H10H(K) AN it 71 7,500 81%
9H11H(K) ABR ik 71 7,500 81%
9OH12H(%&) AN it 71 7,500 81%
9H13H(X) AN it 71 7,500 81%
9H14H(H) AN it 71 7,500 81%
9H15H(H) AN o) 71 7,000 83%
9H16H(X) AN it 71 7,500 81%
9H17H(K) AN ot 71 5,500 86%
9H18H(K) AN it 71 6,500 84%
9H19H(&) AN o) 71 7,000 83%
9H20H(x) AN it 71 7,500 81%
9H21H(H) AN it 71 7,500 81%
9H22H(H) AN it 71 7,000 83%
9H23H(N) AN s 71 7,000 83%
9H24H(K) AN it 71 7,500 81%
9H25H(XK) AN e 71 7,500 81%
9H26H(:E) ABR it 71 7,500 81%
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9H27H(L) ABR it 71 8,500 79%
9H28H(H) AN ot 71 7,000 83%
9H29H(H) ABR it 71 7,000 83%
9H30H(X) AN ot 71 5,500 86%
10H1H(K) ABR it 71 5,500 86%
10H2H(K) AN ot 71 7,000 83%
10H3H(ER) ABR it 71 9,000 78%
10H4H(L) AN ot 71 8,000 80%
1085H((H) ABR it 71 7,000 83%
1086H(H) AN ot 71 7,000 83%
10H7H(X) ABR it 71 6,500 84%
10H8H(K) AN ot 71 5,500 86%
10H9H(K) ABR it 71 5,500 86%
10H10H (&) AN it 71 7,500 81%
10H12H(H) AN ok 71 8,500 79%
10H13H((A) AN it 71 9,500 76%
10H14H(CN) AN ok 71 7,000 83%
10H15H(K) AN it 71 6,000 85%
10H16H(K) AN ok 71 7,500 81%
10H17H (&) AN it 71 7,500 81%
10H18H(x) AN ok 71 9,500 76%
10H19H(H) AN it 71 7,000 83%
10H20H(AH) AN ok 71 7,000 83%
10H218(CN) AN it 71 7,000 83%
10H22H(K) AN ok 71 7,000 83%
10H23H(K) AN it 71 6,000 85%
10H24H (&) ABR ik 71 8,500 79%
10H25H(%) AN it 71 9,500 76%
8H12H(X) b, ABR 72 9,500 77%
8H14H(K) Eoibi) AP 72 9,500 77%
8H18H(H) b, ABR 72 9,000 79%
8H19H(XN) Eoibi) AP 72 9,500 77%
8H20H(K) b, ABR 72 8,500 80%
8H21H(K) Eoibi) AP 72 9,500 77%
8H22H (&) b, ABR 72 9,500 77%
8H23H(L) Eoibi) AP 72 8,500 80%
8H24H(H) o) ABR 72 9,500 77%
8H25H(H) Eoibi) AP 72 9,000 79%
8H26H(X) b, ABR 72 8,000 81%
8H27H(K) poibi) AP 72 8,000 81%
8H28H(K) o) ABR 72 8,500 80%
8H29H (&) poibi) AP 72 8,500 80%
8H30H(X) o) ABR 72 9,000 79%
9H1H((A) poibi) AP 72 7,500 81%
9H2H(N) b ABR 72 9,000 78%
9H3H(K) poibi) AP 72 9,000 78%
9H4H(XK) b ABR 72 8,500 79%
9HS5H(E) poibi) AP 72 9,500 76%
9H6H(L) o) ABR 72 7,500 81%
9H7H(H) Eoibi) KB 72 8,500 79%
9H8H(A) o) ABR 72 7,500 81%
9H10H(K) Eoibi) KB 72 8,500 79%
9H11H(XK) it KB 72 8,500 79%
9OH12H(:&) ok AP 72 8,500 79%
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9H14H(H) b AP 72 7,500 81%
9H15H(H) it AN 72 7,500 81%
9H16H(X) b AP 72 8,500 79%
9H18H(K) it AN 72 8,500 79%
9OH19H(:&) b AP 72 9,000 78%
9H20H(x) ik N 72 9,500 76%
9H21H(H) b AP 72 9,000 78%
9H22H(H) it AN 72 8,500 79%
9H23H(X) b AP 72 8,500 79%
9H24H(K) it AN 72 7,000 83%
9H25H(K) b AP 72 8,500 79%
9H26H(&) it N 72 9,000 78%
9H27H(L) b AP 72 9,000 78%
9H28H(H) ik AN 72 8,500 79%
9H29H(H) Eolb) AP 72 7,500 81%
9H30H(XN) ik AN 72 9,000 78%
10H1H(K) o) AP 72 7,500 81%
10H3H(GE) Eoibi) KB 72 7,500 81%
10A5H((H) Eolb) AP 72 6,500 84%
1086H(H) ik AN 72 7,500 81%
10H7H(CKX) o) AP 72 6,500 84%
10H8H(K) ik KB 72 8,500 79%
10H9H(RK) Eolb) AP 72 9,000 78%
10H12H(H) ik AN 72 8,500 79%
10H13H(AH) Eolb) AP 72 9,000 78%
10H148(N) ik KB 72 8,000 80%
10H17H(:&) o) ABR 72 9,000 78%
10H18H(%L) Eoibi) AP 72 8,500 79%
10H19H(H) b, ABR 72 8,000 80%
10H20H(A) Eoibi) AP 72 8,000 80%
10H21H(A) b, ABR 72 7,000 83%
10H22H(K) Eoibi) AP 72 9,500 76%
10H23H(K) b, ABR 72 6,000 85%
10H24H(%&) Eoibi) AP 72 8,000 80%
10H25H(%) b, ABR 72 8,500 79%
8H4H(H) AN it 73 9,000 79%
8H13H(K) ABR ik 73 9,500 77%
8H16H(L) AN it 73 9,500 77%
8H18H(H) ABR ik 73 9,500 77%
8H19H(XN) AN it 73 8,500 80%
8H20H(K) AN it 73 9,500 77%
8H21H(K) AN it 73 9,000 79%
8H22H (&) AN it 73 9,000 79%
8H24H(H) AN it 73 9,000 79%
8H25H(H) AN ot 73 9,500 77%
8H26H(XN) AN it 73 9,000 79%
8H27H(K) AN it 73 9,000 79%
8H28H(K) AN it 73 7,500 82%
8H29H (&) AN it 73 8,000 81%
8H31H(H) AN it 73 8,500 80%
9H1H(A) AN it 73 7,500 81%
9OH2H(X) AN it 73 9,000 78%
9H3H(K) AN e 73 8,500 79%
9H4H(K) ABR it 73 7,500 81%
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9OHS5H(E) ABR it 73 8,500 79%
9OH6H(TL) AN ot 73 7,500 81%
9H7H(H) ABR it 73 7,000 83%
9H8H(AH) AN ot 73 7,500 81%
9H9H(N) ABR it 73 7,500 81%
9H10H(K) AN ot 73 7,500 81%
9H11H(K) ABR it 73 7,500 81%
9OH12H(&) AN ot 73 9,500 76%
9H13H(%) ABR it 73 9,500 76%
9H14H(H) AN ot 73 9,000 78%
9H16H(X) ABR it 73 9,500 76%
9H18H(K) AN ot 73 7,500 81%
9OH19H(:&) ABR it 73 8,500 79%
9H20H(x) AN it 73 7,500 81%
9821H(H) AN ok 73 6,500 84%
9H22H(H) AN it 73 7,500 81%
9H24H(K) AN ok 73 7,500 81%
9H25H(K) AN it 73 7,000 83%
9H26H(:&) AN ok 73 8,500 79%
9H27H(X) AN it 73 9,000 78%
9H28H(H) AN ok 73 8,500 79%
9H29H(AH) AN it 73 8,500 79%
9H30H(N) AN ok 73 6,000 85%
10H1H(K) AN it 73 7,000 83%
10H2H(K) AN ok 73 7,000 83%
10H3H(GE) AN it 73 8,000 80%
10H4H(L) ABR ik 73 7,500 81%
1085H((H) AN it 73 9,000 78%
108B6H(H) ABR ik 73 9,000 78%
10H7H(X) AN it 73 7,000 83%
10H8H(K) ABR ik 73 7,000 83%
10H9H(RK) AN it 73 7,000 83%
105108 (&) ABR ik 73 8,500 79%
10H148(XN) AN it 73 9,000 78%
10H15H(K) ABR ik 73 5,500 86%
10H16H(K) AN it 73 8,000 80%
10H18H(X) ABR ik 73 8,000 80%
10H19H(H) AN it 73 9,000 78%
108520H(H) ABR ik 73 7,500 81%
10H218(XN) AN it 73 7,000 83%
10H22H(K) AN it 73 7,000 83%
10H24H(%&) AN it 73 8,500 79%
8H1H(E) o) ABR 74 9,000 79%
8H2H(L) poibi) AP 74 9,500 77%
8H7H(XK) b ABR 74 9,000 79%
8H10H(H) poibi) AP 74 9,000 79%
8H11H(H) b ABR 74 9,500 77%
8H18H(H) poibi) AP 74 9,000 79%
8H19H(N) o) ABR 74 9,500 77%
8H20H(K) Eoibi) KB 74 8,500 80%
8H21H(K) o) ABR 74 9,000 79%
8H22H(&) Eoibi) KB 74 9,000 79%
8H23H(X) it KB 74 9,000 79%
8H24H(H) ok AP 74 9,000 79%
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8H25H(H) b AP 74 8,500 80%
8H26H(XN) it AN 74 9,000 79%
8H27H(K) b AP 74 7,500 82%
8H28H(K) it AN 74 6,500 85%
8H29H (&) b AP 74 8,000 81%
8H30H(X) ik N 74 7,500 82%
8H31H(H) b AP 74 9,500 77%
9H1H((A) it AN 74 8,500 79%
9H2H(KX) b AP 74 7,500 81%
9OH3H(K) it AN 74 7,500 81%
9H4H(K) b AP 74 7,500 81%
9H5H(&) it N 74 7,500 81%
9H6H(L) b AP 74 7,500 81%
9H7H(H) ik AN 74 7,500 81%
9H8H(A) Eolb) AP 74 9,000 78%
9H9H(X) ik AN 74 7,500 81%
9H10H(K) o) AP 74 7,500 81%
9H11H(XK) Eoibi) KB 74 7,500 81%
9OH12H(:&) Eolb) AP 74 8,500 79%
9H13H(X) ik AN 74 9,000 78%
9H14H(H) o) AP 74 8,500 79%
9H15H(H) ik KB 74 9,500 76%
9H16H(N) Eolb) AP 74 7,500 81%
9H17H(K) ik AN 74 7,000 83%
9H18H(XK) Eolb) AP 74 9,500 76%
9OH19H(&) ik KB 74 9,000 78%
9H20H(X) o) ABR 74 6,500 84%
9H21H(H) Eoibi) AP 74 7,000 83%
9H22H(H) b, ABR 74 8,500 79%
9H23H(XN) Eoibi) AP 74 8,500 79%
9H24H(K) b, ABR 74 6,500 84%
9H25H(K) Eoibi) AP 74 9,000 78%
9H26H(:&) b, ABR 74 8,500 79%
9H27H(X) Eoibi) AP 74 7,500 81%
9H28H(H) b, ABR 74 7,500 81%
9H29H(AH) Eoibi) AP 74 7,000 83%
9H30H(N) o) ABR 74 6,000 85%
10H1H(K) Eoibi) AP 74 6,000 85%
10H2H(K) b, ABR 74 7,000 83%
10H3H(GE) poibi) AP 74 7,000 83%
10H4H(L) o) ABR 74 6,500 84%
1085H(H) poibi) AP 74 9,000 78%
10H6H(H) o) ABR 74 6,000 85%
10H7H(X) poibi) AP 74 5,500 86%
10H8H(K) b ABR 74 6,000 85%
10H9H(RK) poibi) AP 74 6,000 85%
10H11H(X) b ABR 74 8,500 79%
10H12H(H) poibi) AP 74 9,500 76%
10H14H(N) o) ABR 74 7,000 83%
10H15H(K) Eoibi) KB 74 7,000 83%
10H16H(K) o) ABR 74 8,500 79%
10H17H(%&) Eoibi) KB 74 8,500 79%
10H18H(X) it KB 74 7,000 83%
10H19H(H) ok AP 74 7,500 81%
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10H20H((H) b AP 74 7,000 83%
10H21H(N) it AN 74 6,500 84%
10H22H(K) b AP 74 5,500 86%
10H23H(K) it AN 74 7,500 81%
10H24H(%&) b AP 74 8,000 80%
8H1H(&) ABR B 75 9,500 76%
8H2H(L) ABR RS 75 9,500 76%
8H16H (LX) ABR B 75 9,500 76%
8H18H(H) ABR ERS 75 6,500 83%
8H19H(XN) AN R 75 6,500 83%
8H20H(K) ABR ERS 75 6,500 83%
8H21H(K) AN B 75 6,500 83%
8H22H (&) ABR ERS 75 6,500 83%
8H23H(X) ABR ) 75 6,500 83%
8H24H(H) AN ERS 75 6,500 83%
8H25H(A) AN ) 75 6,500 83%
8H26H(N) AN ERS 75 6,500 83%
8H27H(K) AN ) 75 6,500 83%
8H28H(K) AN ERS 75 6,500 83%
8H29H (&) ABR ) 75 6,500 83%
8H30H(X) AN ERS 75 6,500 83%
8H31H(H) AN ) 75 6,500 83%
9B1H(A) AN ERS 75 6,000 84%
9OH2B(X) AN ) 75 5,500 85%
9H3H(K) AN ERS 75 5,500 85%
9H4H(RK) AN ) 75 5,500 85%
9OHS5H(E) ABR ERS 75 6,500 82%
9H6H(L) KPR ) 75 6,500 82%
9H8H(A) ABR ERS 75 6,000 84%
9H9H(X) AN RS 75 5,500 85%
9H10H(K) ABR ERS 75 5,500 85%
9H11H(K) AN ) 75 6,000 84%
9H12H(:&) ABR ERS 75 6,500 82%
9H13H(%) KPR ) 75 6,500 82%
9H16H(N) ABR ERS 75 6,500 82%
9H17H(K) AN RS 75 5,500 85%
9H18H(XK) ABR ERS 75 6,000 84%
9H19H(%&) KPR ) 75 6,500 82%
9H20H(X) ABR ERS 75 6,500 82%
9H21H((H) AN RS 75 6,500 82%
9H24H(K) ABR EERS 75 5,500 85%
9H25H(K) AN RS 75 5,500 85%
9H26H(:&) ABR RS 75 6,000 84%
9H27H(L) AN RS 75 6,000 84%
9H28H(H) ABR RS 75 6,500 82%
9H29H(H) AN RS 75 6,000 84%
9H30H(N) ABR EERS 75 6,000 84%
10H1H(K) AN RS 75 5,500 85%
10H2H(K) ABR ERS 75 5,500 85%
10H3H(GER) AN RS 75 6,000 84%
10H4H(L) ABR ERS 75 5,500 85%
1085H(H) AN RS 75 6,500 82%
10H6H(AH) AN EERS 75 5,500 85%
10H7H(X) ABR RS 75 6,000 84%




aE&e

(X5

EE

IBEX4Hi

EEER F5|x

10H8H(K) ABR ERS 75 5,500 85%
10H9H(K) AN EERS 75 6,000 84%
105108 (&) ABR RS 75 6,000 84%
10H11H(X) ABR EERS 75 6,000 84%
10H12H(H) ABR RS 75 6,500 82%
10H14H(N) AN EERS 75 6,000 84%
10H15H(K) ABR ERS 75 5,500 85%
10H16H(XK) AN EERS 75 5,500 85%
10H17H(%&) ABR RS 75 6,000 84%
10H18H(%) ABR EERS 75 5,500 85%
10H19H(H) ABR RS 75 6,500 82%
10H20H(H) AN EERS 75 5,500 85%
10H21H(N) ABR ERS 75 5,500 85%
10H22H(K) AN EERS 75 6,000 84%
10H23H(K) AN EER 75 5,500 85%
10H24H(%&) ABR RER 75 6,000 84%
10H25H(%) AN ERS 75 5,500 85%
8H1H(E) ERE KB 76 9,500 76%
8H2H(L) m' AP 76 9,500 76%
8H4H(H) ERS AN 76 9,500 76%
8H5H(KX) m' AP 76 9,500 76%
8H6H(K) ) KB 76 9,500 76%
8H7H(RK) E AP 76 9,500 76%
8H8H(E) ERE AN 76 9,500 76%
8H10H(H) m' AP 76 9,500 76%
8H12H(N) ERS KB 76 9,500 76%
8H13H(K) u:' ABR 76 9,500 76%
8H19H(N) ERS AP 76 6,500 83%
8H20H(K) u:' ABR 76 6,500 83%
8H21H(K) ERS KPR 76 6,500 83%
8H22H (&) m' ABR 76 6,500 83%
8H23H(X) ) KPR 76 6,500 83%
8H25H(H) EeUT ABR 76 6,500 83%
8H26H(XN) ERS AP 76 6,500 83%
8H27H(K) u:' ABR 76 6,500 83%
8H28H(K) ERS KPR 76 6,500 83%
8H29H (&) m' ABR 76 6,500 83%
8H30H(L) ) ABR 76 6,500 83%
8H31H(H) EeUT ABR 76 6,500 83%
9H1H((A) ERS AP 76 6,000 84%
9H2H(N) bljb N 76 5,500 85%
9H3H(K) ERS AP 76 5,500 85%
9H4H(XK) bljb N 76 6,000 84%
9HS5H(E) ERS KPR 76 6,500 82%
9H6H(L) bljb ABR 76 6,000 84%
9H7H(H) ERS AP 76 6,500 82%
9HS8H(H) bljb N 76 6,000 84%
9H9H(X) ERS AP 76 6,000 84%
9H10H(K) bljb N 76 5,500 85%
9H11H(K) ERS KB 76 6,000 84%
9H12H(&) bljb ABR 76 6,500 82%
9H13H(%) ) KB 76 6,500 82%
9H14H(H) eSS KB 76 6,500 82%
9H16H(X) RS AP 76 5,500 85%
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9H17H(K) E AP 76 5,500 85%
9H18H(XK) RER AN 76 6,000 84%
9OH19H (&) S AP 76 6,500 82%
9H20H(X) RER AN 76 6,000 84%
9H21H(H) S AP 76 6,500 82%
9H22H(H) RER N 76 6,500 82%
9H24H(K) ERE AP 76 6,000 84%
9H25H(XK) ﬁ'ﬁd AN 76 5,500 85%
9H26H(:&) S AP 76 6,500 82%
9H27H(X) RER AN 76 5,500 85%
9H28H(H) RS AP 76 6,500 82%
9H29H(H) ) N 76 5,500 85%
9H30H(XN) RS AP 76 5,500 85%
10H1H(K) ERS ABR 76 5,500 85%
10H2H(K) m' AP 76 5,500 85%
10H3H(E) ) ABR 76 6,500 82%
10H4H(L) E AP 76 5,500 85%
1085H((H) ERE ABR 76 6,500 82%
10H6H(H) m' AP 76 5,500 85%
10H78HX) ERE ABR 76 5,500 85%
10H8H(K) m' AP 76 5,500 85%
10H9H(K) ) ABR 76 5,500 85%
105108 (&) E AP 76 6,000 84%
10H11H(X) ERE ABR 76 5,500 85%
10H14H(N) m' AP 76 5,500 85%
10H15H(K) ERS ABR 76 5,500 85%
10H16H(K) u:' ABR 76 5,500 85%
10H17H (%) ERE KPR 76 6,500 82%
10H18H(X) m' ABR 76 5,500 85%
10H19H(H) ERE KPR 76 6,500 82%
108520H(H) u:' ABR 76 5,500 85%
10H21H(N) ) KPR 76 5,500 85%
10H22H(K) EeUT ABR 76 5,500 85%
10H23H(K) ERS KPR 76 5,500 85%
10H24H (&) m' ABR 76 5,500 85%
10H25H(%) ERE KPR 76 6,000 84%
8H1H(E) KB& PAVJ) 77 9,500 66%

8H2H(L) KPR PAV) 77 9,500 66%

8H3H(H) ABR PAVJ) 77 9,500 66%

8H4H(H) AN DAV 77 9,500 66%

8H5H(AN) ABR Aa) 77 9,500 66%

8H6H(K) AN DAV 77 9,500 66%

8H7H(XK) ABR Aa) 77 9,500 66%

8H14H(K) AN DAV 77 9,500 66%
8H15H(&) ABR PAV) 77 9,500 66%
8H18H(H) AN DAV 77 6,000 79%
8H19H(X) ABR Aa) 77 6,000 79%
8H20H(K) AN DAV 77 6,000 79%
8H21H(K) ABR Aa) 77 6,000 79%
8H22H(&) AN DAV 77 6,000 79%
8H23H(X) ABR PAV) 77 6,500 77%
8H24H(H) AN DAV 77 6,000 79%
8H25H(H) AN PAV) 77 6,000 79%
8H26H(XN) ABR DAV 77 6,000 79%
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8H27H(K) ABR DAV 77 6,000 79%
8H28H(K) AN PAV) 77 6,000 79%
8H29H (&) ABR DAV 77 6,000 79%
8H30H(X) ABR PAV) 77 6,000 79%
8H31H(H) ABR DAV 77 6,000 79%
9H1H((A) AN PAV) 77 6,000 77%
9OH2H(X) ABR DAV 77 6,000 77%
9H3H(K) AN PAV) 77 5,500 79%
9H4H(K) ABR DAV 77 6,000 77%
9OHS5H(E) ABR PAV) 77 6,000 77%
9H6H(L) ABR DAV 77 6,500 75%
9HB7H(H) AN PAV) 77 6,500 75%
9H8H(AH) ABR DAV 77 6,000 77%
9OH9H(X) AN PAV) 77 6,000 77%
9H10H(K) AN X5 77 5,500 79%
9H11H(XK) AN PAV) 77 6,000 77%
9OH12H(&) AN X5 77 6,500 75%
9H13H(X) ABR PAV) 77 7,000 73%
9H14H(H) AN X5 77 6,500 75%
9H15H(H) AN PAV) 77 6,500 75%
9H16H(N) AN X5 77 6,000 77%
9H17H(K) AN PAV) 77 5,500 79%
9H18H(XK) AN X5 77 5,500 79%
9OH19H(&) ABR PAV) 77 6,000 77%
9H21H(H) AN X5 77 6,500 75%
9H22H(H) AN PAV) 77 6,500 75%
9H23H(N) ABR PAVJ) 77 6,000 77%
9H24H(K) AN PA) 77 6,000 77%
9H25H(K) ABR PAVJ) 77 6,000 77%
9H26H(%&) KPR PAV) 77 6,500 75%
9H27H(X) ABR PAVJ) 77 6,500 75%
9H28H(H) AN PAV) 77 6,500 75%
9829H(H) ABR PAVJ) 77 6,000 77%
9H30H(XN) AN PA) 77 6,000 77%
10H1H(K) ABR PAVJ) 77 5,500 79%
10H2H(K) AN PA) 77 5,500 79%
10H3H(ER) ABR PAVJ) 77 6,500 75%
10H4H(L) KPR PAV) 77 6,500 75%
10H5H((H) ABR PAVJ) 77 6,500 75%
1086H(H) AN DAV 77 6,000 77%
10H7H(XN) ABR Aa) 77 5,500 79%
10H8H(K) AN DAV 77 5,500 79%
10H9H(RK) ABR Aa) 77 5,500 79%
10H10H(%&) AN DAV 77 6,500 75%
10H12H(H) ABR PAV) 77 6,500 75%
10H13H((H) AN DAV 77 6,000 77%
10H14H(AN) ABR Aa) 77 6,000 77%
10H15H(K) AN DAV 77 5,500 79%
10H16H(XK) ABR Aa) 77 6,000 77%
10H17H(%&) AN DAV 77 6,500 75%
10H18H(X) ABR PAV) 77 6,500 75%
10H19H(H) AN DAV 77 6,500 75%
10H20H(H) AN PAV) 77 5,500 79%
10H21H(N) ABR DAV 77 5,500 79%
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10H22H(K) ABR DAV 77 6,000 77%
10H23H(K) AN PAV) 77 6,000 77%
10H24H(%) ABR DAV 77 6,000 77%
10H25H(%) ABR PAV) 77 6,500 75%
8H1H(E) ) AP 78 9,500 66%
8H3H(H) PAV) N 78 9,500 66%
8H4H(H) %) AP 78 9,500 66%
8HS5H(XN) PAV) AN 78 9,500 66%
8H6H(K) ) AP 78 9,500 66%
8H7H(RK) PAV) AN 78 9,500 66%
8H8H(E) ) AP 78 8,500 70%
8H9H (L) PAV) N 78 8,500 70%
8H10H(H) A7 AP 78 8,500 70%
8H12H(XN) PAV) AN 78 8,500 70%
8H13H(K) PA) AP 78 8,500 70%
8H14H(K) PAV) AN 78 9,500 66%
8H19H(N) PAV) AP 78 6,500 77%
8H20H(K) PAV) KB 78 6,500 77%
8H21H(K) PA) AP 78 6,500 77%
8H22H(&) PAV) AN 78 6,500 77%
8H23H(X) PAV) AP 78 6,500 77%
8H24H(H) PAV) KB 78 6,500 77%
8H25H(H) PAV) AP 78 6,000 79%
8H26H(N) PAV) AN 78 6,000 79%
8H27H(K) PA) AP 78 6,000 79%
8H28H(K) PAV) KB 78 6,000 79%
8H29H (&) PAV) ABR 78 6,000 79%
8H30H(L) PAV) AP 78 6,000 79%
8H31H(H) PAV) ABR 78 6,000 79%
9H1H((A) PAV) AP 78 5,500 79%
9H2H(X) PAV) ABR 78 6,000 77%
9H3H(K) PAV) KPR 78 6,000 77%
9H4H(K) PAV) ABR 78 6,000 77%
9HS5H(E) PAV) AP 78 6,500 75%
9H6H(L) PAV) ABR 78 6,500 75%
9H7H(H) PAV) AP 78 6,500 75%
9H8H(A) PAV) ABR 78 6,000 77%
9H9H(X) PAV) AP 78 6,000 77%
9H10H(K) PAV) ABR 78 6,000 77%
9H11H(K) PAV) AP 78 6,000 77%
9H12H(&) PAV) ABR 78 6,500 75%
9H14H(H) PAV) AP 78 6,500 75%
9H15H(H) PAV) N 78 6,500 75%
9H16H(X) PAV) AP 78 6,000 77%
9H17H(K) PAV) N 78 6,000 77%
9H18H(K) PAV) AP 78 6,000 77%
9H19H(&) PAV) ABR 78 6,500 75%
9H21H((H) PAV) AP 78 6,500 75%
9H22H(H) PAV) N 78 6,500 75%
9H23H(XN) PAV) KB 78 6,500 75%
9H24H(K) PAV) N 78 6,000 77%
9H25H(K) PAV) KB 78 6,000 77%
9H26H(&) PAV) KB 78 6,500 75%
9H27H(L) %) AP 78 6,500 75%
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9H28H(H) ) AP 78 6,500 75%
9H30H(N) PAV) AN 78 5,500 79%
10H1H(K) ) AP 78 6,000 77%
10H2H(K) PAV) AN 78 6,000 77%
10H3H(GER) ) AP 78 6,500 75%
1085H((H) PAV) N 78 6,500 75%
10H6H(H) %) AP 78 6,000 77%
10H7HX) PV AN 78 6,000 77%
10H8H(K) ) AP 78 6,000 77%
10H9H(K) PAV) AN 78 5,500 79%
105108 (&) ) AP 78 6,500 75%
10H11H(X) PAV) N 78 6,500 75%
10H12H(H) A7 AP 78 6,500 75%
10H13H(H) PAV) AN 78 6,500 75%
10H14H(N) PA) AP 78 6,000 77%
10H15H(K) PAV) AN 78 5,500 79%
10H16H(K) PAV) AP 78 6,000 77%
10H17H (&) PAV) KB 78 6,000 77%
10H18H(x) PA) AP 78 6,500 75%
10H19H(H) PAV) AN 78 6,000 77%
10H20H(AH) PAV) AP 78 6,000 77%
10H21H(N) PAV) KB 78 6,000 77%
10H22H(K) PAV) AP 78 6,000 77%
10H23H(XK) PAV) AN 78 5,500 79%
10H24H(£) PA) AP 78 6,000 77%
10H25H(%) PAV) KB 78 6,500 75%
8H1H(E) ABR B 79 11,700 73%
8H2H(L) AN (=) 79 11,700 73%
8H5H(KX) ABR B 79 10,700 75%
8H6H(’K) AN (=) 79 10,700 75%
8H14H(K) ABR B 79 11,700 73%
8H18H(H) AN (=) 79 10,700 75%
8H19H(N) ABR B 79 10,700 75%
8H20H(K) AN (=) 79 10,700 75%
8H21H(K) ABR B 79 10,700 75%
8H25H(H) AN (=) 79 9,700 78%
8H26H(N) ABR B 79 9,700 78%
8H27H(K) AN (=) 79 7,700 82%
8H28H(K) ABR B 79 7,700 82%
8H29H (&) AN =) 79 7,700 82%
8H30H(X) ABR =) 79 10,700 75%
8H31H(H) AN =) 79 10,700 75%
9H1H(H) ABR BS 79 8,700 79%
9H2H(X) AN =) 79 8,700 79%
9H3H(K) ABR B5S 79 8,700 79%
9H4H(K) AN =) 79 8,700 79%
9HS8H(H) ABR B5S 79 9,700 77%
9H10H(K) AN =) 79 7,700 81%
9H11H(K) ABR BES 79 7,700 81%
9OH12H(%&) AN =) 79 8,700 79%
9H16H(X) ABR BES 79 7,700 81%
9H17H(K) AN =) 79 7,700 81%
9H18H(XK) AN B5S 79 7,700 81%
9OH19H(:&) ABR =) 79 9,700 77%
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9H21H(H) ABR = 79 8,700 79%
9H22H(H) AN B5S 79 9,700 77%
9H24H(K) ABR B 79 9,700 77%
9H25H(K) AN B5S 79 9,700 77%
9H26H(:&) ABR = 79 9,700 77%
9H27H(X) AN B5S 79 9,700 77%
10H2H(K) ABR = 79 7,700 81%
10B3H(%) AN B5S 79 7,700 81%
10H4H(L) ABR B 79 9,700 77%
1086H(H) AN B5S 79 8,700 79%
10H7H(X) ABR B 79 8,700 79%
10H8H(K) AN B5S 79 8,700 79%
10H9H(K) ABR = 79 8,700 79%
10H10H (&) AN B5S 79 9,700 77%
10H12H(H) AN = 79 9,700 77%
10H14H(N) AN B5S 79 8,700 79%
10H15H(K) AN = 79 8,700 79%
10H16H(K) AN B5S 79 7,700 81%
10H17H(&) AN = 79 9,700 77%
10H21H(N) AN B5S 79 7,700 81%
10H22H(K) AN = 79 7,700 81%
10H23H(K) AN B5S 79 7,700 81%
10H24H(£) AN = 79 9,700 77%
10H25H(%) AN B5S 79 9,700 77%
8H1H(E) =] AP 80 11,700 73%
8H4H(H) RS KB 80 11,700 73%
8H6H(K) B ABR 80 11,700 73%
8H18H(H) RS AP 80 9,700 78%
8H19H(N) B ABR 80 10,700 75%
8H20H(K) RS AP 80 10,700 75%
8H21H(K) B ABR 80 10,700 75%
8H22H(%&) RS AP 80 10,700 75%
8H23H(X) =] ABR 80 9,700 78%
8H24H(H) RS AP 80 9,700 78%
8H25H(H) B ABR 80 9,700 78%
8H26H(XN) RS AP 80 7,700 82%
8H27H(K) B ABR 80 7,700 82%
8H28H(K) RS AP 80 7,700 82%
8H29H (&) =] ABR 80 11,700 73%
8H30H(%) =] AP 80 9,700 78%
8H31H(H) =) ABR 80 9,700 78%
9H1H((A) =] AP 80 9,700 77%
9H2H(N) =) N 80 9,700 77%
9H3H(K) =] AP 80 7,700 81%
9H4H(XK) =) N 80 8,700 79%
9H8H(AH) =] AP 80 8,700 79%
9H9H(X) =) N 80 8,700 79%
9H10H(K) =] AP 80 7,700 81%
9H11H(K) =) N 80 9,700 77%
9H14H(H) =] KB 80 11,700 72%
9H15H(H) =) N 80 8,700 79%
9H16H(X) =] KB 80 7,700 81%
9H17H(K) BE KB 80 7,700 81%
9H18H(K) =] AP 80 7,700 81%
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9H19H(:&) =] AP 80 9,700 77%
9H20H(X) RS AN 80 11,700 72%
9H21H(H) =] AP 80 11,700 72%
9H22H(H) RS AN 80 8,700 79%
9H24H(K) BS AP 80 8,700 79%
9H25H(K) RS N 80 8,700 79%
9H26H(:&) =] AP 80 9,700 77%
9H27H(X) RS AN 80 11,700 72%
9H29H(H) =] AP 80 7,700 81%
9H30H(XN) RS AN 80 7,700 81%
10H1H(K) BS AP 80 7,700 81%
10H2H(K) RS N 80 7,700 81%
1085H(H) =] AP 80 8,700 79%
1086H(H) RS AN 80 8,700 79%
1087H(X) B AP 80 7,700 81%
10H8H(K) RS AN 80 7,700 81%
10H9H(RK) B AP 80 9,700 77%
10H12H(H) RS KB 80 8,700 79%
10H14H(CN) B AP 80 8,700 79%
10H15H(K) RS AN 80 8,700 79%
10H16H(K) B AP 80 8,700 79%
10H17H (&) RS KB 80 9,700 77%
10H18H(x) =] AP 80 9,700 77%
10H19H(H) RS AN 80 8,700 79%
10H20H(AH) =] AP 80 9,700 77%
10H21H(N) RS KB 80 7,700 81%
10H22H(K) B ABR 80 7,700 81%
10H23H(K) RS AP 80 8,700 79%
10H24H (&) =] ABR 80 9,700 77%
10H25H(%) RS AP 80 10,700 74%
8H1H(E) ABR B 81 11,700 73%
8H4H(H) AN B5S 81 11,700 73%
8H6H(K) ABR B 81 10,700 75%
8H18H(H) AN B5S 81 10,700 75%
8H19H(N) ABR B 81 10,700 75%
8H20H(K) AN B5S 81 11,700 73%
8H21H(K) ABR B 81 10,700 75%
8H22H(%&) AN B5S 81 10,700 75%
8H26H(N) ABR BS 81 7,700 82%
8H27H(K) AN == 81 7,700 82%
8H28H(K) ABR BS 81 7,700 82%
8H29H (&) AN == 81 8,700 80%
9H1H(H) ABR BS 81 9,700 77%
9H2H(X) AN == 81 7,700 81%
9H3H(K) ABR B5S 81 7,700 81%
9H4H(K) AN == 81 7,700 81%
9OHS5H(E) ABR B5S 81 9,700 77%
9H8H(AH) AN == 81 9,700 77%
9H10H(K) ABR BES 81 7,700 81%
9H11H(K) AN B5S 81 7,700 81%
9H16H(X) ABR BES 81 7,700 81%
9H17H(K) AN B5S 81 7,700 81%
9H18H(XK) AN B5S 81 7,700 81%
9OH19H(:&) ABR == 81 9,700 77%




aE&e

(X5

EE

IBEX4Hi

EEER F5|x

9H20H(x) ABR = 81 9,700 77%
9H24H(K) AN B5S 81 8,700 79%
9H25H(K) ABR B 81 8,700 79%
9H26H(&) ABR B5S 81 9,700 77%
9H29H(H) ABR = 81 7,700 81%
10H1H(K) AN B5S 81 7,700 81%
10H2H(K) ABR = 81 7,700 81%
10B3H(%) ABR B5S 81 7,700 81%
10H4H(L) ABR B 81 9,700 77%
10H7HX) AN B5S 81 7,700 81%
10H8H(K) ABR B 81 7,700 81%
10H9H(K) AN B5S 81 7,700 81%
10H10H(&) ABR = 81 9,700 77%
10H14H(N) AN B5S 81 7,700 81%
10H15H(K) AN B5 81 7,700 81%
10H16H(K) AN B5S 81 7,700 81%
10H17H(£) AN = 81 8,700 79%
10H19H(H) AN B5S 81 8,700 79%
10H20H(AH) AN = 81 8,700 79%
10H21H(N) AN B5S 81 7,700 81%
10H22H(K) AN B5 81 7,700 81%
10H23H(K) AN B5S 81 7,700 81%
10H24H(£) AN = 81 8,700 79%
10H25H(%) AN B5S 81 9,700 77%
8H1H(E) =] AP 82 11,700 73%

8H2H(L) RS KB 82 11,700 73%

8H3H(H) =] ABR 82 11,700 73%

8H4H(H) RS AP 82 11,700 73%

8H5H(KX) B ABR 82 11,700 73%

8H6H(’K) RS AP 82 11,700 73%

8H7H(RK) B ABR 82 11,700 73%

8H12H(N) RS AP 82 11,700 73%
8H14H(K) B ABR 82 11,700 73%
8H18H(H) RS AP 82 11,700 73%
8H19H(N) B ABR 82 11,700 73%
8H20H(K) RS AP 82 9,700 78%
8H21H(K) B ABR 82 9,700 78%
8H22H(%&) RS AP 82 11,700 73%
8H23H(X) =] ABR 82 11,700 73%
8H24H(H) =] AP 82 11,700 73%
8H25H(H) =) N 82 11,700 73%
8H26H(XN) =] AP 82 11,700 73%
8H27H(K) =) N 82 11,700 73%
8H28H(K) =] AP 82 11,700 73%
8H29H (&) =) ABR 82 11,700 73%
8H30H(%) =] AP 82 11,700 73%
8H31H(H) =) ABR 82 11,700 73%
9H1H((A) =] AP 82 7,700 81%

9H2H(N) =) N 82 7,700 81%

9H3H(K) =] KB 82 7,700 81%

9H4H(XK) =) N 82 7,700 81%

9HS5H(E) =] KB 82 9,700 77%

9H6H(L) =) KB 82 9,700 77%

9H7H(H) =] AP 82 9,700 77%
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9H8H(AH) =] AP 82 7,700 81%
9OH9H(X) RS AN 82 7,700 81%
9H10H(K) BS AP 82 7,700 81%
9H11H(K) RS AN 82 9,700 77%
9H13H(%) =] AP 82 11,700 72%
9H14H(H) RS N 82 10,700 74%
9H16H(X) BS AP 82 7,700 81%
9H17H(K) RS AN 82 7,700 81%
9H18H(K) BS AP 82 7,700 81%
9OH19H(&) RS AN 82 9,700 77%
9H20H(x) =] AP 82 9,700 77%
9H21H((H) RS N 82 10,700 74%
9H22H(H) =] AP 82 11,700 72%
9H23H(XN) RS AN 82 9,700 77%
9H24H(K) B AP 82 8,700 79%
9H25H(K) RS AN 82 8,700 79%
9H26H (&) =] AP 82 9,700 77%
9H27H(X) RS KB 82 9,700 77%
9H28H(H) =] AP 82 9,700 77%
9H29H(AH) RS AN 82 8,700 79%
9H30H(N) B AP 82 8,700 79%
10H1H(K) RS KB 82 7,700 81%
10H2H(K) B AP 82 7,700 81%
10H3H(GE) RS AN 82 10,700 74%
10H4H(L) =] AP 82 8,700 79%
1085H((H) RS KB 82 10,700 74%
10H6H(H) B ABR 82 8,700 79%
10H7H(X) RS AP 82 7,700 81%
10H8H(K) B ABR 82 8,700 79%
10H9H(RK) RS AP 82 8,700 79%
10812H(H) =] ABR 82 9,700 77%
10H14H(N) RS AP 82 7,700 81%
10H15H(K) B ABR 82 7,700 81%
10H16H(K) RS AP 82 7,700 81%
10H17H(:&) =] ABR 82 8,700 79%
10H18H(%L) RS AP 82 8,700 79%
10H19H(H) =] ABR 82 9,700 77%
10H20H(A) RS AP 82 7,700 81%
10H21H(CN) B ABR 82 7,700 81%
10H22H(K) =] AP 82 7,700 81%
10H23H(K) =) N 82 7,700 81%
10H24H(%&) =] AP 82 8,700 79%
10H25H(%) =) N 82 9,700 77%
8HS5H(X) &l o) 83 14,700 76%
8H6H(K) =lid ot 83 14,700 76%
8H15H(E) &l o) 83 14,200 76%
8H19H(N) =lid it 83 14,700 76%
8H20H(K) &l o) 83 13,700 77%
8H25H(H) =lid it 83 14,200 76%
8H27H(K) &l R 83 11,700 81%
8H28H(K) =lid it 83 11,700 81%
8H29H (&) &l R 83 14,200 76%
8H30H(X) &l e 83 13,700 77%
9H1H((H) &l it 83 12,700 78%
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9H2H(N) &[] b 83 12,200 79%

9H3H(K) &) e 83 10,200 82%

9H4H(K) &[] i 83 12,700 78%

9H5H (&) &) e 83 13,700 76%

9H6H(L) &[] b 83 13,700 76%

9H7H(H) &) e 83 11,700 80%

9H8H(A) &[] b 83 12,700 78%

9H9H(N) &) e 83 9,700 83%

9H10H(K) &[] i 83 11,700 80%
9H11H(CK) &) e 83 11,700 80%
9H12H (&) &[] i 83 12,700 78%
9H14H(H) &) e 83 12,700 78%
9H15H(H) &[] b 83 14,200 75%
9H16H(N) &[] e 83 12,700 78%
9H17H(K) &[] il 83 10,200 82%
9H18H(K) &[] e 83 11,700 80%
9H19H (&) &[] il 83 12,200 79%
98208 (L) &[] e 83 14,700 74%
9H21H(H) &[] il 83 12,200 79%
9H22H(A) &[] e 83 12,200 79%
9H23H(N) &[] il 83 12,700 78%
9824H(K) &[] e 83 10,700 81%
9H25H(K) &[] il 83 11,700 80%
9826H (&) &[] e 83 12,700 78%
9H27H(*L) &[] il 83 12,700 78%
9H28H(H) &[] e 83 10,700 81%
9H29H(H) &[] il 83 10,700 81%
9H30H(N) &[] e 83 9,700 83%
10H180K) &[] il 83 9,700 83%
1082H(K) &[] e 83 11,700 80%
1083H (%) &[] il 83 11,700 80%
1084H(L) &[] e 83 13,700 76%
10H5H(H) &[] il 83 10,700 81%
10H6H(AH) &[] e 83 11,200 80%
108780N) &[] il 83 10,700 81%
1088H(K) &[] e 83 9,700 83%
10H9H(RK) &[] il 83 9,700 83%
108 10H(E) &[] e 83 13,700 76%
10H12H(H) &[] il 83 12,700 78%
10H13H(AH) &[] e 83 14,700 74%
108148(N) &[] it 83 10,200 82%
108 15H(K) &[] e 83 10,200 82%
10H16H(AK) &[] it 83 10,700 81%
10817H (&) &[] e 83 11,700 80%
10H18H(*L) &) it 83 13,700 76%
10H19H(H) &[] e 83 10,700 81%
10H20H(A) & it 83 12,200 79%
10821H(N) &[] e 83 10,700 81%
10822H(0K) & il 83 10,700 81%
10823H(A) &) e 83 10,200 82%
108A24H(&) &) il 83 12,700 78%
10825H(%) &) e 83 14,200 75%
8H24H(H) e &) 84 14,700 76%
8H25H(H) e =[] 84 13,700 77%
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8H26H(X) e &l 84 13,700 77%
8H27H(K) Ealbs) &l 84 11,700 81%
8H28H(XK) e &l 84 12,200 80%
9H1H(H) Ealbs) &l 84 12,700 78%

9OH2H(N) e &l 84 12,700 78%

9H3H(K) Ealbs) &l 84 12,700 78%

9H4H(XK) e &l 84 13,700 76%

9H6H(%) Ealbs) &l 84 13,700 76%

9H7H(H) e &l 84 13,200 77%

9H8H(H) Ealbs) &l 84 13,700 76%

9H9H(KX) e &l 84 13,700 76%

9H10H(K) Ealbs) &l 84 13,700 76%
9H11H(XK) e &l 84 14,700 74%
9H12H(%) IR &l 84 12,700 78%
9H13H(L) e &l 84 13,700 76%
9H14H(H) e &l 84 14,700 74%
9H15H(H) e &l 84 14,700 74%
9H17H(K) s &l 84 12,700 78%
9H18H(K) e &l 84 10,200 82%
9H19H(%) oI &l 84 12,700 78%
9H21H(H) e &l 84 12,700 78%
9H22H(H) e &l 84 13,200 77%
9H24H(K) e &l 84 12,700 78%
9H25H(XK) oI &l 84 10,200 82%
9H28H(H) e &l 84 13,200 77%
9H30H(X) e &l 84 11,200 80%
10H1H(OK) e &l 84 12,700 78%
10H38(2) 8 & 84 13,700 76%
10H5H(H) e &l 84 10,700 81%
10868(8) 8 & 84 12,700 78%
10H7HCN) e &l 84 11,700 80%
10H8H(K) s &l 84 12,700 78%
10H9H(K) e &l 84 12,700 78%
108126 (H) 8 & 84 11,700 80%
10H13H(H) e &l 84 14,700 74%
10H14HN) e &l 84 13,700 76%
10H17H(&) e &l 84 14,700 74%
10H18H(%) s &l 84 13,700 76%
10H19H(H) e &l 84 14,700 74%
10H20H(H) s &l 84 14,700 74%
10H21HCN) e &l 84 12,700 78%
10H22H(K) e &l 84 12,700 78%
10H23H(K) e &l 84 10,700 81%
10H24H(%) s &l 84 14,700 74%
10H25H(%) e &l 84 13,700 76%
8H4H(H) &l s 87 14,200 76%

8A5E (1) 8 575 87 14,700 76%

8H26H(N) &l s 87 12,200 80%
8H27H(K) &l s 87 12,200 80%
8H29H (&%) &l s 87 13,200 78%
8H30H(L) &l Eiibs) 87 13,200 78%
9H2H(KX) &l R 87 10,700 81%

9H3H(K) & poib) 87 10,700 81%

9H4H(K) &l o) 87 13,700 76%
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9HS5H(%&) &l il 87 11,700 80%

9H6H(%) &l oAb 87 12,700 78%

9H7H(H) &l i) 87 14,700 74%

9H8H(H) &l oAb 87 13,200 77%

9H9H(KX) &l i 87 13,700 76%

9H10H(K) & oAb 87 13,700 76%
9H12H(&E) &l i 87 13,700 76%
9H14H(H) & oAb 87 13,700 76%
9H16H(X) &l i 87 13,700 76%
9H17H(K) & oAb 87 12,200 79%
9H18H(XK) &l i 87 13,700 76%
9H20H(%) & oAb 87 13,700 76%
9H21H(H) &l s 87 14,700 74%
9H22H(H) &l oAb 87 13,700 76%
9H24H(K) &l i) 87 11,200 80%
9H26H(E) &l oAb 87 11,200 80%
9H27H(XL) &l i) 87 11,700 80%
9R308 () 18 e 87 10,700 81%
10H1H(OK) &l i) 87 12,700 78%
10H2H(K) &l oAb 87 12,700 78%
10H3H(E) &l i) 87 12,700 78%
10H4H(L) &l oAb 87 10,700 81%
10H5H(H) &l i) 87 13,700 76%
10H6H(H) &l oAb 87 14,700 74%
10H7HCN) &l i) 87 11,200 80%
10H8H(K) &l oAb 87 11,700 80%
10H9H(XK) &l i) 87 11,700 80%
10H10H(%) &l s 87 12,700 78%
1051480 &l i) 87 12,700 78%
10H15H0K) &l R 87 9,700 83%
10H16H(K) &l i) 87 14,200 75%
10H18H(%) &l s 87 14,700 74%
10H19H((H) &l i) 87 13,700 76%
10H20H(H) &l oAb 87 14,700 74%
10H21HCN) &l i) 87 12,700 78%
10H22H(K) &l s 87 12,700 78%
10824H(&) &l i) 87 12,700 78%
8H21H(XK) e &l 88 14,700 76%
8H23H(L) e &l 88 12,700 79%
8H26H(N) e &l 88 13,700 77%
8H27H(K) e &l 88 11,200 81%
8H28H(K) e &l 88 12,200 80%
8H30H(L) e &l 88 13,700 77%
8H31H(H) e &l 88 14,700 76%
9H1H(AH) e &l 88 13,700 76%

9H2H(KX) e &l 88 12,700 78%

9H3H(K) e &l 88 10,700 81%

9H4H(K) e &l 88 13,700 76%

9OH5H(%E) e &l 88 12,700 78%

9H6H(L) e &l 88 11,700 80%

9H8H(AH) e &l 88 13,700 76%

9B9E () 8 & 88 12,700 78%

9H10H(K) Ealbs) &l 88 13,700 76%
9H11H(XK) e &l 88 12,700 78%
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9H12H(:&) b @] 88 13,700 76%
9H13H(X) it &l 88 13,200 77%
9H14H(H) b @] 88 13,700 76%
9H15H(H) it &l 88 13,200 77%
9H16H(X) b @] 88 11,700 80%
9H17H(K) ik &l 88 11,700 80%
9H18H(K) b @] 88 13,700 76%
9H20H(X) it &l 88 12,700 78%
9H21H(H) b @] 88 12,700 78%
9H22H(H) it &l 88 12,200 79%
9H23H(X) b @] 88 12,200 79%
9H24H(K) it &l 88 10,200 82%
9H25H(K) b @] 88 10,200 82%
9OH26H (&) ik e ] 88 12,700 78%
9H27H(X) Eolb) @] 88 10,700 81%
9H28H(H) ik fa ] 88 12,700 78%
9H29H(H) o) @] 88 12,700 78%
9H30H(XN) Eoibi) e ] 88 10,200 82%
10H1H(K) Eolb) @] 88 10,700 81%
10H2H(K) ik e ] 88 10,700 81%
10H3H(ER) o) @] 88 12,200 79%
10H4H(L) ik e ] 88 10,200 82%
10A5H((H) Eolb) @] 88 12,700 78%
1086H(H) ik e ] 88 10,200 82%
10H7H(KX) Eolb) @] 88 9,700 83%
10H8H(K) ik e ] 88 10,700 81%
10H9H(RK) o) ] 88 12,700 78%
10H11H(X) Eoibi) ] 88 12,700 78%
10812H(H) b, ] 88 14,200 75%
10H14H(N) Eoibi) &[] 88 11,200 80%
10H15H(K) b, ] 88 10,700 81%
10H16H(K) Eoibi) ] 88 12,200 79%
10H17H(:&) b, ] 88 12,200 79%
10H18H(%L) Eoibi) &[] 88 12,700 78%
10H19H(H) b, ] 88 13,700 76%
10H20H((A) Eoibi) ] 88 11,200 80%
10H21H(N) o) ] 88 10,700 81%
10H22H(K) Eoibi) &[] 88 9,700 83%
10H23H(K) b, ] 88 10,200 82%
10H24H(%&) poibi) @] 88 12,200 79%
10H25H(%) o) il 88 14,700 74%

B TRZEE IS ERZE - PEERZZE (T2 b 7) -KIRERZEE (FF) -BRZEREISRTE. MZESFITBADR.

Rz E S (CINA Tl hRE fEsRE AR 2 22BN S CRDOTRURIET.

e (1% 1IXEAE)

Fi% : KA370M
& : KA290M
i K A440M
713 : KA340M1
L8 : KA340M
f&EM : KA110M

(I\2180M)
(/I\E150M)
(\B220M)
(NR170M)
(\E170M)
(/NE50M)




